ELEKTRIK

SYSTEM

Support Systems and Accessories

www.eaeelectric.com



SUPPORT SYSTEM SOLUTIONS

EAE Support-Systems provide your project with high quality, fast installation, a wide range of products the optimum and the most
professional solutions.

Thanks to its modular and perforated structure, it provides the advantage of easy installation, in addition

it can be produced in desired lengths in many product types.

EAE Support Solutions are produced in 2 classes: Light and Heavy Duty.

According to the application types;

- Wall Mounted Bracket Systems,

- Ceiling Mounted Bracket Systems,

- Threaded Bracket Systems (Single /Dual),

are some examples for products from a vast range of applications. In addition, Special Vertical Shaft Support Systems for the
vertical application of the Busbar Systems are also available. There are support solutions available for your project with G, U, C and
L profiles.

EAE Support-Bracket Systems are standard-produced as Pregalvanized and Hot Dip Galvanized Coated for indoor or outdoor
applications. Painted and Stainless Steel Support Solutions are also available which are resistant to corrosive environments and
different conditions in accordance with customer requests

Company Profile
Founded in 1973, EAE Elektrik A.S. is the parent company of the EAE Grup. EAE
Elektrik A.S. is a global manufacturer in the electrical industry.
in numbers;
EAE Grou Founded ) :in 1973
p Closed Manufacturing Area : 280.000m2
Range of Products : Busbar Power Distribution Systems
Lighting Busbar Systems
Cable Tray Systems

Underfloor Trunking
9 1 973 Trolley Busbar Systems
year of foundatiton Companies : EAE Elektrik
EAE Lighting
EAE Elektroteknik

- 280000m2 EAE Technology

closed manufacturing area EAE Machinery
9o '| 00+ “Lean Production” and "Innovative and Customer Driven Product Development”
countries of export approaches are the key values utilized in designing and manufacturing the
product families in compliance with ISO 9001, ISO 14001, OHSAS 18001 and
ISO 27001.

EAE Elektrik A.S. busbar products are approved by KEMA / DEKRA (Holland)
laboratories for IEC 61537 and UL standards compliance. This compliance is
periodically audited by KEMA-KEUR and UL.









CONTENTS

»p»SUPPORT SYSTEMS
Wall Mounted Bracket Systems . 4-10
Ceiling Mounted Bracket SYSTEMS............oc.ooeoeeeeeeoeeeeeeeeeeee e .14-33
Single ROd TyPe BraCket SYSTEMIS ... 36-43
Dual Rod Type Bracket SystemS oo 44-48
Vertical Shaft BraCket SYSTEMS ..ot 52-58
»pORDER CODES
ETS-D SUPPOIt, STS=D SUPPOIL .. 62
TS Supports, A-STS-D Heavy DUty SUPPOITS ... 63
Binrak Double Support With Single Holes, A-STK Heavy Duty Supports..................... 64
IDY Heavy Duty Supports, UDY Heavy Duty SUPPOItS. ... 65
STS Heavy Duty SUPPOItS, KT SUPPOITS. ..ot 66
Ceiling Fexing Element, Ceiling MOUNT FIttNGS............ocooooooeosoeoeoeoeeesoeseeeeseeeeeee 67
Support Extension Units, Ceiling Mounting FittiNgs..............cco.oooooeoeeoeeeoeeeeeeeeeeeee 68
UDYB Heavy Duty Supports,UPD Heavy Duty Type Supports L e 69
UPY Heavy Duty Supports (U), Ceiling Mounting Fittings ... 70
STK Heavy Duty Supports,STK-M Heavy Duty SUPPOIS.........cc.oooooeeeeeeeeeeeeeeeeeeeeeeee 71
IDD Heavy Duty Type SUPPOrtS, SUPPOIt FIttiNGS..........oc.oooeeeoeeeeeeeeeeeeeee 72
UDD Heavy Duty Type Supports, Ceiling Mounting Fittings...........ccoocoooioiie 73
PDD Universal Supports, PDDB UNiversal SUPPOIS........c..oooooeeeeeeoeeeeeeeeeeeeeseeeee e 74
Tray Supports For Threaded Rods (L), Heavy Duty Supports (L) B 75
Ceiling Mounting Fittings, Tray Supports For Threaded ROdS ... 76
Tray Supports For Threaded Rods, Universal SUPPOrts. ..., 7
Binrak Channel, Binrak Fixing Accessories , V-SUpport ... 78
FIXING ACCESSONIES ... 79-80
Quick Binrak Nut, QUICK TraVers NUL...............o.ooooooeeeeee e 81
FIXING ACCESSOTIES ... e e e 82
KO Support Elements, KO Supports, KX Connectors, KX Supports, Retainer Kit ... 83
DL Support Fittings, KAM/KAP SUPPOTt FItEINGS ... 84

Please visit our website for the updated version of our catalogues.
www.eaeelectric.com

ELEKTRIK






WALL MOUNTED
BRACKET SYSTEMS




»»>WALL MOUNTED BRACKET SYSTEMS

ELEKTRIK

» MODEL APPLICATIONS

)
%

—

~ gl

=

Q
=
o oo MmO e oo oo

—[ol==fc]==]

oo e oo oo
oo MmO O O OO

oo Mo oo oo
oo moc—moo oo
oo mocmoo oo

Application: Used Product: Recommended Support Range
1.5 m
3 . I

= A A

Wall Cable Tray

TP 101

No Description NL!mber phipisces Remark Ref.Page
in the system
1  EAE Steel Dowel 2 M8/M10 Refer to page 80.
2 ETS-D Support Fittings 1 Available for 050-600 mm width. Refer to page 62.
3 M6 x 12 Extension Bolt 2

Refer to page 82.

WWW. lectric.com



»»>WALL MOUNTED BRACKET SYSTEMS

ELEKTRIK

|

()
> MODEL APPLICATIONS )o{’

a

0
0
) o
(=1 g
o ='| KO BUSBAR
o
(=P A ®
\/

Application: Used Product: Recommended Support Range
1.5 m
+—>
=
3 i | A
Wall Busbar  Cable Tray
Warning:

m M6X12 bolt assembly should be ordered if cable tray installation is to be performed in the system.

TP 102

Number of pieces

No Description inithe system Remark Ref.Page
1 EAE Steel Dowel 2 M10 Refer to page 80.
2 STS-D Console 1 Available for 100-160 mm width. Refer to page 62.
3 M8X20Bolt 1 - Refer to page 79.
4 M8 Washer 1 - Refer to page 79.
5 M8 Nut 1 - Refer to page 79.
6 KO Universal Retainer 1 - Refer to page 83.

WWW. lectric.com g




»»WALL MOUNTED BRACKET SYSTEMS

ELEKTRIK

()
» MODEL APPLICATIONS )od'
M000 0 0001
000=000
000 G100
000=000
poo 0000
R
J000 G000
000=000
poooooo
0000000
000=000
Application: Used Product: Recommended Support Range
1.5 m
+—>
L1
3 A A
Wall Cable Tray

TP 103

Number of pieces

No Description in the system Remark Ref.Page
1 TS Support Fittings 1 Available for 050-600 mm width. Refer to page 80.
2  Steel Dowel 2 M8/M10 Refer to page 80.
3 M6x12 Bolt Set 2 - Refer to page 82.

1 0 WWW. lectric.com




»»>WALL MOUNTED BRACKET SYSTEMS

ELEKTRIK

()
= o > MODEL APPLICATIONS )07

©

o0 @1-@ 09

=
/
|

A

Application: Used Product: Recommended Support Range
1.5 m
+—>
=
3 i | A
Wall Busbar  Cable Tray

Warning:
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.

TP 104

Number of pieces

No Description in the system Remark Ref.Page
1 A-STS-D Console 1 Available for 210-1010 mm width. Refer to page 63.
2 KX Angle Bracket Fittings 2 - Refer to page 83.
3 EAE Steel Dowel 2 M10 Refer to page 80.

WWW. lectric.com 1 1



»»WALL MOUNTED BRACKET SYSTEMS

ELEKTRIK

()
» MODEL APPLICATIONS )06‘

/A\ﬂ ' = o
®
]
LlT OV O UL =
D(EC)C)\C)DC)%D

Application: Used Product: Recommended Support Range
1.5 m
+—>
IE.
3 E A
Wall Busbar
Warning:

m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.

TP 105

Number of pieces

No Description in the system Remark Ref.Page
1 EAE Steel Dowel 2 M10 Refer to page 80.
2 KX Angle Bracket Fittings 2 - Refer to page 83.
3 BR6-D Console 1 A console with a size of 100-600 mm can be selected. Refer to page 64.
4  Spring Traverse Nut 2 M10 Refer to page 79.

12

WWW. lectric.com



»»>WALL MOUNTED BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )06‘

i
.

6
"?‘\»fr, J 5
%
2 @ Q\ 8 D
(70N
S
|@ Q O
N
7 = 3 O
4
Application: Used Product: Recommended Support Range
1.5 m
+—>
[ —]
= L1
3 E A
Wall Busbar Cable Tray

Warning:
m M6X12 bolt assembly should be ordered if cable tray installation is to be performed in the system.
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.

TP 106
No Description NL:?:?:; :;:ti::‘es Remark Ref.Page
1 EAE Steel Dowel 4 M10-M12 Refer to page 80.
2 IDK Conduit Joint 4 Number of IDY springs may increase according to the console length.  Refer to page 72.
3 IDY Console 1 Length may vary up to ;a‘é)é)l?irr:r;ne?‘icording to demand and Refer to page 65.
4 A-STK Console 1 Available for 210-1010 mm width. Refer to page 64.
5 KX angle Bracket Fittings 2 = Refer to page 83.
6 M10 X 30 Washer 2 - Refer to page 79.
7 M10 Nut 2 = Refer to page 79.
8 M10 Washer 4 = Refer to page 79.
9 IDY Protective Cap 2 = Refer to page 72.

WWW. lectric.com 1 3




»»WALL MOUNTED BRACKET SYSTEMS

ELEKTRIK

()
T A > MODEL APPLICATIONS )0)
[p===mm| o
i : .

Tl ] I

%
ERE

|
s .
|

B
Ly ] S —

Application: Used Product: Recommended Support Range
1.5 m
+—>
=
3 | A
Wall Busbar  Cable Tray

Warning:

m KX angle bracket fittings can be ordered when a busbar will be installed to the system.
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.
m The number of steel dowels can be increased according to the UDY console 2.

TP 107
No Description N"::‘r:; :;:::;es Remark Ref.Page

1  EAE Steel Dowel 2 M8/M10 Refer to page 80.
2 UDY Console 1 Length may be extended up to 3000 mm according to weight and use. Refer to page 65.
3 STSConsole 2 Available for 100-160 mm width. Refer to page 66.
4  M10 Bolt 4 - Refer to page 79.
5 M10 Nut 4 - Refer to page 79.
6 MT10 Washer 8 - Refer to page 79.
7 M6 X 12 Extension Bolt 2 - Refer to page 82.
8  UDY Protective Cap 2 - Refer to page 73.

—
F =Y

WWW. lectric.com



»»REFERENCES &

ELEKTRIK

WWW. lectric.com 1 5







CEILING TYPE BRACKET
SYSTEMS




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
A > MODEL APPLICATIONS )00

H——m]
H——J

%OOOOO(DO

=
OOQOX@\QOOO
p==¥

Ssssssssssssss(®

R T I EEEEEEEY

0
QO q
| O |
[
[
_ @
4 O o
>
0 :
R, o
[
2 D O » 0
/ ?
| o/
Application: Used Product: Recommended Support Range
— A A
Roof Cable Tray
Warning:
m If the length of the product # 2 is more than 1 m, a load calculation is required
TP 108
No Description Nu_mber phipicces Remark Ref.Page
in the system
1  EAE Steel Dowel 2 M8/M10 Refer to page 80.
2 TMP 42 Ceiling Support Unit 1 The length "L" may vary. Refer to page 67.
3 TS Console 2 Available for 050-600 mm width. Refer to page 63.
4 M6 x 12 Extension Bolt 8 - Refer to page 82.

1 8 WWW. lectric.com




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
A » MODEL APPLICATIONS )09
i
To| %

%

o] d
B o ®
op :
L 1 A
o y &
oo :
@
®
o
o
~D
0 5
2
Application: Used Product: Recommended Support Range
— A A
Roof Cable Tray
Warning:
m If the length of the product # 3 is more than 1 m, a load calculation is required
TP 109
No Description NL!mber pipisees Remark Ref.Page
in the system
1  EAE Steel Dowel 2 M10 Refer to page 80.
2  Cotter Pin 4 M6 x 12 Extension Bolt can also be used. Refer to page 82.
3  TMP 44 Ceiling Support Unit 1 The length “L" may vary. Refer to page 67.
4 KT Console 2 Available for 050-600 mm width. Refer to page 66.
5 M6 x 12 Extension Bolt 4 - Refer to page 82.

WWW. lectric.com 1 g




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS ))0

\oooo(@o@@oﬁ
>
%E

H 2y
‘DO ﬂ ODDD@OO
T =

o

) B 4 ﬁ
1] D 2
= = =}
o =) %
™ Llle
=
@
S ok
© o o ? &
3 @ 1z T
0 o e
N @ ﬁ @ ®
N 9 0| @
. j@ o 0% o
N 6 o 2z
o @
o @)
9 0 v
2 o o) °
0 o
[ 4
Application: Used Product: Recommended Support Range
LLLLLLL 1,5 m
t—>
- A A
Roof Cable Tray

Warning:
m If the length of the ASU 2A is more than 1 m, a load calculation is required.

TP 110

Number of pieces

No Description in the system Remark Ref.Page
1  EAE Steel Dowel 2 M10 Refer to page 80.
2  Cotter Pin 2 M6 x 12 Extension Bolt can also be used. Refer to page 82.
3  TMPS8 Ceiling Support Unit 1 - Refer to page 67.
4 ASU2A-4 1 The length "L" may vary. Refer to page 68.
5 KT Console 1 Available for 050-600 mm width. Refer to page 66.
6 M6 x 12 Extension Bolt 6 = Refer to page 82.

20 WWW. lectric.com




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )))

ol|lo
o] o
©
o] o
©|©
ol o
S
[¢] [¢]
o] o
A
[ oo )
ShBee
\\® o/f
[¢] [e]

o@@o@om
00 ® o ® o|0

Application: Used Product: Recommended Support Range
— A A
Roof Cable Tray
Warning:

m If the length of the product # 3 is more than 1 m, a load calculation is required

TP 111

Number of pieces

No Description in the system Remark Ref.Page
1 EAE Steel Dowel 2 M10 Refer to page 80.
2 Cotter Pin 4 M6 x 12 Extension Bolt can also be used. Refer to page 82.
3 TMP9 Ceiling Support Unit 1 - Refer to page 67.
4 KT Console 2 Its length may vary between 50-600 mm according to the tray width. Refer to page 66.
5 M6 x 12 Extension Bolt 12 - Refer to page 82.
6 ASU2A-4 2 The length “L" may vary. Refer to page 68.

WWW. lectric.com 2 1




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS ))e

A @ 9
9 e
b I
< o o
@0 \‘i@
e ¥ o
— ¥ o
o 9 o
o B e
® o
o 9 s
o ,?;/“
o 5 IRY
o oo
o o °
° gl o
¥ o
o ¥ o
© B o ef| —
© 9o Y
L ]\ :
o ; N
°
en 5
@ N
© v
[ o
°
°
°
N
S
S
S
IR
3

)@@@@@@@@@]

v © e © e © © ¢ &

Application: Used Product: Recommended Support Range
— - Wm
- A A
Roof Cable Tray
Warning:
m If the length of the ASU 2A is more than 1 m, a load calculation is required.
TP 112
No Description Nt!mber pipicees Remark Ref.Page
in the system
1  EAE Steel Dowel 2 M10 Refer to page 80.
2 TMP6 Ceiling Support Unit 1 It can also be selected as 4 mm. Refer to page 69.
3 ASU2A 1 The length “L" may vary. Refer to page 68.
4 M8X20 B'orlt' - 4 - Refer to page 79.
5 M8 Nut 4 - Refer to page 79.
6 M8 Washer 8 = Refer to page 79.
7 KT Console 1 Its length may vary tt;‘it\;\:gsnwf;gt-ﬁwmm according to Refer to page 66.
8 M6 x 12 Extension Bolt 6 - Refer to page 82.

22 WWW. lectric.com




»»CEILING TYPE BRACKET SYSTEMS

==

0

0

0

0

0

0

] qp0
ok

0

| 04F c 0l

0®

%@@@@DCDDDC)C@:M

5| == g}
=]

ELEKTRIK

()
> MODEL APPLICATIONS ))o"

%

\\
\R\Y

f—=m]
=]

0 0
0 0
0 L ] L 1 0
0 M oI 0
0 < E: 0
01100, 3 2 100_| 0
Application: Used Product: Recommended Support Range Odp il 71 150 }r il 71 apd
(LLLLLL 1,5m OCDCDCDCDCDCDCDCDCDCDCDD
]IEl[ 0 NL1L2L3 NL1L2L3 G
= A A S SN N1 N N
Roof Busbar Flgure 1
Warning:
m Where 2 or more busbars are to be used side by side, the installation spacing rules in Figure 1 should be followed.
TP 113
No Description Nt!mber phipieces Remark Ref.Page
in the system
1  EAE Steel Dowel 4 (M10-M12) Refer to page 80.
2 UPD Ceiling Support Unit 2 Length may vary between 300mm-3000mm Refer to page 69.
3 M10 Nut 4 - Refer to page 79.
4 M10 Washer 8 - Refer to page 79.
5 MI10Bolt 4 - Refer to page 79.
6 UDYB Console 1 300mm-1000mm may vary according to requirement Refer to page 69.
7 KX Angle Bracket Fittings 2 - Refer to page 83.
WWW. I ic.com 23




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS ))7

i
0 oS
O )
0 05
E
[ @
00
@ﬂ
| 0 )%,
o ] @
E I
2 0
O @c
@e
L 4
S

)
0
0
0
0
0
0
0
g 4
K
0
Application: Used Product: Recommended Support Range /@w “
il . 1.5 m
El || A A
Roof Busbar  Cable Tray
Warning:

m M6X12 bolt assembly should be ordered if cable tray installation is to be performed in the system.
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.
m If the length of the UPD is more than 1 m, a load calculation is required.

TP 114
No Description NL!mber phipisces Remark Ref.Page
in the system

1  EAE Steel Dowel 2 M10-M12 Refer to page 80.
2 UPD Ceiling Fixing Element 1 Length may vary between 300 mm - 3000 mm Refer to page 69.
3 STS Console 1 A console with a size of 100-600mm can be selected. Refer to page 66.
4 M10 Nut 2 - Refer to page 79.
5 M10 Washer 4 - Refer to page 79.
6 MI10Bolt 2 - Refer to page 79.
7 KX Angle Bracket Fittings 2 - Refer to page 83.

24 WWW. lectric.com




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

03
A » MODEL APPLICATIONS 2,
L i 5
.
s 2 o
e @) Y
0 0 ®
g 0
0 0 &
0 0 F“f
0 0 g
0 0 0
0] ! J
0 B 0
9
[ o] ] "
719
i
ol
9
9

S
1 (2
U
I bo| @
T 0 | :
LA NG e 0
0
@) ¢} @
S Fee |
4 0
i i
U o
- 3 @
0
g
Application: Used Product: Recommended Support Range @
o » «—1m
= L1
Roof Busbar  Cable Tray
Warning:

m KX angle bracket fittings should be ordered when a busbar will be installed to the system.
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.
m If the length of the UPY console length is more than 1 m, a load calculation is required.

TP 115
No Description NL!mber phipieces Remark Ref.Page
in the system

1  EAE Steel Dowel 2 M10-M12 Refer to page 80.
2 TMP 2 Ceiling Fixing Element 1 - Refer to page 67.
3 UPY Console 1 Length may vary ug;g ?:);]Lﬂrr:nr:weﬂicording to demand Refer to page 70.
4  STS Console 2 Available for 100-600mm width. Refer to page 66.
5 M6 X 12 Bolt Set 4 - Refer to page 82.
6 MI10 Nut 8 = Refer to page 79.
7  M10 Washer 16 - Refer to page 79.
8 M10Bolt 8 - Refer to page 79.

WWW. lectric.com 2 5




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS ))6‘

DDDDD‘@&@@EQ

=

J)

Aocooooeos ooy

T EEEEE

Application: Used Product: Recommended Support Range

B || e —

Roof Busbar  Cable Tray

Warning:

m KX angle bracket fittings should be ordered when a busbar will be installed to the system.
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.

m If the length of the UPY console length is more than 1 m, a load calculation is required.

TP 116
No Description L L | Remark Ref.Page
in the system
1 EAE Steel Dowel 2 M10-M12 Refer to page 80.
2 TMP 3 Ceiling Fixing Element 1 = Refer to page 67.
3 UPY Console 1 Length may vary up to 3000mm according demand and requirement. Refer to page 70.
4 STS Console 4 Available for 100-600 mm width. Refer to page 66.
5 M6 X 12 Bolt Set 8 - Refer to page 82.
6 M10 Bolt 14 - Refer to page 79.
7 M10 Washer 28 - Refer to page 79.
8 M10 Nut 14 - Refer to page 79.

N
(=)

WWW. lectric.com



»»CEILING TYPE BRACKET SYSTEMS

@
)

o r——or—9/°

Application: Used Product: Recommended Support Range
LLLiLis » «—1m
i | A
Roof Busbar  Cable Tray
Warning:

m KX angle bracket fittings should be ordered when a busbar will be installed to the system.
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.
m If the length of the IDY console length is more than 1 m, a load calculation is required.

ELEKTRIK

TP 117
No Description Nl.!mber of pieces Remark Ref.Page
in the system

1  EAE Steel Dowel 2 M10-M12 Refer to page 80.
2 TMP7 1 - Refer to page 70.
3 IDY Console 1 Length may vary up to 3000 mm according to demand and requirement. Refer to page 65.
4  STK Console 2 Available for 100-600 mm width. Refer to page 71.
5 M6 X 12 Bolt Set 2 - Refer to page 82.
6 M10Bolt 2 M10 Refer to page 79.
7  M10 Washer 4 M10 Refer to page 79.
8 M10 Nut 2 M10 Refer to page 79.

WWW. lectric.com

27




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS ))0

&

@0

T PR

"
i3 | —===q]
=

\EEEE%

E-

—
s

|
I
I
I

|
I
]
I

L o
Application: Used Product: Recommended Support Range 2 2
15 100 @ 150 || 1100
Ll - © M o I 1 o
El A A e —
NL1L21L3 NL1L21L3
Roof Busbar 001 01001
Figure 1
Warning:

m Where 2 or more busbars are to be used side by side,the installation spacing rules in Figure 1 should be followed.

TP 118

Number of
No Description pieces Remark Ref.Page
in the system
1  EAE Steel Dowel 4 M10-M12 Refer to page 80.
2 DD Ceiling Fixing Element 2 Lm0 ey T O 60 SOOQmm Azeriig) o e Refer to page 72.
and requirement.

3 IDT Additional Member Set 2 - Refer to page 72.
4 IDY Console 1 Its length may vary according to the tray width. Refer to page 65.
5 KX/KB IDY Retaining Kit 2 - Refer to page 83.

28 WWW. lectric.com




»»CEILING TYPE BRACKET SYSTEMS

Application: Used Product: Recommended Support Range
LLLLLLL - 1,5 m
i | A
Roof Busbar  Cable Tray

Warning:
m KX angle bracket fittings should be ordered when a busbar will be installed to the system.

TP 119

ELEKTRIK

()
> MODEL APPLICATIONS ))9

Number of pieces

No Description in the system Remark

1  EAE Steel Dowel 2 M10-M12

2 | IDD/Geiling Fixing Element 1 Length may vary ugntg If;’e?]%(i)rr:::e?‘i(:ording to demand
3 STK-M Console 2 Available for 100-600mm width.

4 M6 X 12 Bolt Set 4 =

5 IDY Protective Cap 1 -

WWW. lectric.com

Ref.Page
Refer to page 80.
Refer to page 72.

Refer to page 71.
Refer to page 82.
Refer to page 72.

29




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )é‘
o

oo oo co oo

\
— = 9/ ——r——r72 @

Application: Used Product: Recommended Support Range
1.5 m
- «——>
|
= L1
4 H A A
Steel Busbar  Cable Tray 1

Construction

Warning:
m KX angle bracket fittings should be ordered when a busbar will be installed to the system.
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.

TP 120

Number of pieces

No Description in the system Remark Ref.Page

1  ITP Retainer 1 Production is performed according to the “I" iron width. Refer to page 72.
2 IDY Console 1 Length may vary up to 3000mm according to demand and requirement. ~ Refer to page 65.
3 STKConsole 1 Available for 100-600mm width. Refer to page 71.
4 M6X12 Bolt Set 2 - Refer to page 82.
5 M10X30 Bolt 2 - Refer to page 79.
6 M10 Washer 4 - Refer to page 79.
7  M10 Nut 2 - Refer to page 79.
8 IDY Protective Cap 1 - Refer to page 72.

W
o

WWW. lectric.com



»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )‘-,)

Application: Used Product: Recommended Support Range
LLLiLis » «—1m
i | A
Roof Busbar  Cable Tray

Warning:
m KX angle bracket fittings should be ordered when a busbar will be installed to the system.
m If the length of the IDY console length is more than 1 m, a load calculation is required.

TP 121

Number of pieces

No Description in the system Remark Ref.Page
1  EAE Steel Dowel 2 M10-M12 Refer to page 80.
2 1-80"I" Profile Add. 2 - Refer to page 72.
3 TMPI10 1 - Refer to page 70.
4  M10 Bolt 4 - Refer to page 79.
5 M10 Nut 4 - Refer to page 79.
6 MT10 Washer 8 - Refer to page 79.
7 IDY Console 1 Length may be ext?gzﬂtugntgjsogo mm according to Refer to page 65.
STK Console 1 Available for 100-600mm width. Refer to page 71.
M6X12 Bolt Set 2 - Refer to page 82.
10 IDY Protective Cap 1 - Refer to page 72.

WWW. lectric.com 3 1




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )ee

Application: Used Product: Recommended Support Range
777777 . < 1,5 m >
Hl = A A
Roof Busbar  Cable Tray
Warning:

m M6X12 bolt assembly should be ordered if cable tray installation is to be performed in the system.
m If the length of the IDY console length is more than 1 m, a load calculation is required.

TP 122
No Description NL::?:; :;gt'::fs Remark Ref.Page

1 EAE Steel Dowel 2 M10-M12 Refer to page 80.
2 UDD Console 1 Length may be extended up to 3000 mm according to weight and use.  Refer to page 73.
3 M8 X 20 Bolt 2 - Refer to page 79.
4 M8 Washer 4 - Refer to page 79.
5 M8 Nut 2 - Refer to page 79.
6 KO Universal Retainer 2 - Refer to page 83.
7 STS Console 2 Available for 100-600mm width. Refer to page 66.
8 M10Bolt 4 - Refer to page 79.
9 MI10 Nut 4 - Refer to page 79.
10 M10 Washer 8 - Refer to page 79.
11 UDY Protective Cap 1 - Refer to page 73.

32 WWW. lectric.com




»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )é‘
]

0

0 eie 0
0e

DOO@@OOOOOOOO@j{]

w ; =

is | —-==1g]

—1 =i}
=1
=1

4~ _ 5
B e [ u
~ 6 — 7
' I |
I
Application: Used Product: Recommended Support Range D 100 3 150 2 100, D
7 15 m ﬁ( e B il
+—>
i
A A B NL1L21L3 NL1L21l3 q b
Roof Busbar @H 100a pooan &
Figure 1

Warning:
m Where 2 or more busbars are to be used side by side, the installation spacing rules in Figure 1 should be followed.

TP 123

Number of pieces

No Description in the system Remark Ref.Page
1  EAE Steel Dowel 4 M10-M12 Refer to page 80.
2 UDD Console 2 Length may be extsvr:ecilgﬁtuapn;ous;(l(.)Omm according to Refer to page 73.
3 UDYB Console 1 Width can be extended according to the product width Refer to page 69.
4 KX Angle Bracket Fittings 2 = Refer to page 83.
5 M10 Bolt 4 = Refer to page 79.
6 M10 Nut 4 - Refer to page 79.
7  M10 Washer 8 = Refer to page 79.
8 UDY Protective Cap 2 = Refer to page 73.

WWW. lectric.com 33




»»CEILING TYPE BRACKET SYSTEMS

=20 000 ®

/_/2999999999&99@%'

Wt’seeaseeaaeeyﬁ

Application: Used Product:

E

L1

Steel
Construction

Busbar

Cable Tray

S o o o s o o & o )8

Recommended Support Range

1,5 m
—>

A A

Warning:

m KX angle bracket fittings can be ordered when a busbar will be installed to the system.
m Max. available up to KXA2500A and KXC2000A. It is not applicable for bigger busbars.
m If the length of the UDD console length is more than 1 m, a load calculation is required.

ELEKTRIK

()
> MODEL APPLICATIONS £
v

TP 124
No Description Nu_mber of pieces Remark Ref.Page
in the system
1  Tp2 Retainer 2 - Refer to page 72.
2 MI10Bolt 6 - Refer to page 79.
3  M10 Nut 6 - Refer to page 79.
4 M10 Washer 10 - Refer to page 79.
5 M0 Spring Nut 2 - Refer to page 79.
6 UDD Console 1 Length may be extend_ed up to 3000mm according to Refer to page 73.
weight and use.

7 A-STS Console 1 Available for 210-1010mm width. Refer to page 63.
8 M6 X12 Extension Bolt 2 KX angle bracket fittings can be ordered when a Refer to page 82.

9  UDY Protective Cap
34

busbar will be installed to the system.

Refer to page 73.

WWW. lectric.com



»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )é‘
S

o

Q g g ococoocooo JO O 0 0 O 0 O Of—mm

11

Application: Used Product: Recommended Support Range
LLLiLis » «—1m
i | A
Roof Busbar  Cable Tray

Warning:
m M6X12 bolt assembly should be ordered if cable tray installation is to be performed in the system.

TP 125

Number of pieces
in the system

1  EAE Steel Dowel 4 (M10-M12) Refer to page 80.

No Description Remark Ref.Page

Length may vary up to 3000mm according to demand

2 UDD console 2 and requirement. Refer to page 73.
3 M8X20bolt 4 - Refer to page 79.
4 M8 Washer 8 - Refer to page 79.
5 M8 Nut 4 - Refer to page 79.
6 KO Universal Retainer 1 Available for 100-600 width. Refer to page 83.
7 STS Console 2 - Refer to page 66.
8 M10Bolt 4 - Refer to page 79.
9 M10 Nut 4 - Refer to page 79.
10 M10 Washer 8 - Refer to page 79.
11 UDY Protective Cap 1 - Refer to page 73.

WWW. lectric.com 3 5




»»CEILING TYPE BRACKET SYSTEMS

o/ooooooooooaﬁ:mﬂ

ogeoooooe

coooooc—m oo

A=

‘oBoooooBooo@ooooo@ooooooo@oooo

-

Q
® ¢
O p Q
7 || Q
O Q
ol o ®
O o N
© 0
o %
o) 3
6
1 4
Application: Used Product: Recommended Support Range
il ]I_I[ 1.5 m
= L1
— A A
Roof Busbar  Cable Tray
Warning:

ELEKTRIK

()
> MODEL APPLICATIONS )"6‘

m If a busbar is to be installed in the system, M8x20 bolt, M8 nut, M8 washer should be ordered instead of KO Universal retainer and M6x12 bolt.
m If the length of the PDD console length is more than 1 m, a load calculation is required.

TP 126
.. Number of pieces
No Description . Remark Ref.Page
in the system
1  EAE Steel Dowel 2 M10-M12 Refer to page 80.
2 PDD Console 1 Length may be extendgd up to 2000 mm according Refer to page 74.
to weight and use.

3 STS Console Available for 100-600mm width. Refer to page 66.
4  M10Bolt - Refer to page 79.
5 MI10 Nut - Refer to page 79.
6 MT10 Washer 12 - Refer to page 79.
7 M6 X 12 Extension Bolt 6 Used for mounting the cable tray on the console. Refer to page 82.

36

WWW.

ic.com



»»CEILING TYPE BRACKET SYSTEMS

ELEKTRIK

A /)
% ﬁ % » MODEL APPLICATIONS )e)
ofo T Jlo]o] ¥ g
o|O o0 o]
o|0o O | o [e)
[el e O | O o
i& O | O o
olo 5|6 5 %
HE al a ole g e NS
L ="l =]
loto \ oo ® o Z ollo
o T o) B8 2 3l R
Ooooo\oo‘fbooooooo OODQ/OOOO O‘H Og Z
o|o o|o o o
OOOOOPOOOOOOOOOOOOOOOOOO o 9“ Q
[el o] O | O 0] 9 Ql|lQ
o|o|p gp|o o ol
o] o lolo] Lo NI *
B e %
o
Akl S
MRS oo
s Nz
2 ollo
N7
N2
N7
7
Q2
N7
Q2
Q@
Q2
N7
o2
= o2
0% U
® e © 7
o|olB AR
1 oo o o
: ‘ O|0oj|looco gle
T Jo]o] @ ol o n oY
019 ool 22’ : o
2 2% ol 3 219 e
0|0 o|a 2|9 AR
_Le oo\~ 4 o 28
6 ~ I
2o 0
@
Application: Used Product: Recommended Support Range A N
Q 0
o - «— 12 é@ )
= L1 9 0
— 0
A A S
Roof Busbar  Cable Tray
Warning:
m M6X12 bolt assembly should be ordered if cable tray installation is to be performed in the system.
TP 127
No Description Nu_mber pipisees Remark Ref.Page
in the system
1 EAE Steel Dowel 4 M10-M12 Refer to page 80.
2 PDD Console 2 Length may be extended up to 2000 mm according to weight Refer to page 74.
and use.
3 PDDB Console 1 Width can be extended according to the product width Refer to page 74.
4 M10 Bolt 4 - Refer to page 79.
5 MI10 Nut 4 - Refer to page 79.
6 M10 Washer 8 - Refer to page 79.
KX Angle Bracket Fittings 2 - Refer to page 83.

WWW. lectric.com 37







SINGLE ROD TYPE
BRACKET SYSTEMS




»»SINGLE ROD TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )‘-,0

[ F\C
[y

4 ©

/7-'
%2 |
7

Application: Used Product: Recommended Support Range
1.5 m
+—>
3 - A A
Wall Cable Tray
Warning:

m In this system trays with a maximum H = 60 (height) W = 200 (width) can be used.
m Notify the length of the rod when ordering.

TP 128
No Description NL::?:; :;:t':::‘es Remark Ref.Page

1  EAE Steel Dowel 1 M10 Refer to page 80.
2 'L" Ceiling Retainer. 1 - Refer to page 76.
3 Nut 4 M8/M10 Refer to page 79.
4 Rod 1 M8/M10 Refer to page 79.
5 Washer 4 M8/M10 Refer to page 79.
6 AT3 1 Its length may vary according to the tray width. Refer to page 76.
7 M6 x 12 Extension Bolt 2 - Refer to page 82.

40 WWW. lectric.com




»»SINGLE ROD TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )‘-,‘9

AN
e oo

rs

im

(@ B
N
£
=
[
©
0

[

Application: Used Product: Recommended Support Range
— A A
Roof Cable Tray
Warning:

m In this system trays with a maximum H = 60 (height) W = 200 (width) can be used
m Notify the length of the rod when ordering.

TP 129
No Description Nui':?:; :;;)tl:;es Remark Ref.Page
1  EAE Steel Dowel 1 M10 Refer to page 80.
2 Washer 2 M8/M10 Refer to page 79.
3 'U" Ceiling Retainer. 1 - Refer to page 76.
4  Nut 2 M8/M10 Refer to page 79.
5 Rod 1 M8/M10 Refer to page 79.
6 AT5 1 Its length may vary according to the tray width. Refer to page 76.
7 M6 x 12Extension Bolt 2 - Refer to page 82.

WWW. lectric.com 4 1




»»SINGLE ROD TYPE BRACKET SYSTEMS

T

® )
J ~

0
1 ; — ;
6
Application: Used Product: Recommended Support Range
1.5 m
— < >
- A A
Steel Cable Tray

Construction

Warning:

m In this system trays with a maximum H = 60 (height) W = 300 (width) can be used

m Notify the length of the rod when
TP 130

ordering.

ELEKTRIK

()
> MODEL APPLICATIONS )‘90

No Description

1 Joint Clamp

2 Rod

3 Nut

4 Washer

5 AT3

6 M6 x 12 Extension Bolt

42

Number of pieces
in the system

4

— b~ 0O B~ N

Remark

M8/M10
M8/M10
M8/M10
M8/M10

Its length may vary according to the tray width.

Ref.Page

Refer to page 82.
Refer to page 79.
Refer to page 79.
Refer to page 79.
Refer to page 76.
Refer to page 82.

WWW.

ic.com



»»SINGLE ROD TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )o")

0l UDDDD:

Application: Used Product: Recommended Support Range
=
E A
Roof Busbar
Warning:

m Notify the length of the rod when ordering.

TP 131

No Description NL!mber phipieces Remark Ref.Page
in the system
1  EAE"S" Type Draw-in Anchor 1 M8 Refer to page 80.
2  Rod 1 M8 Refer to page 79.
3 'DL" Frame Bracket 1 Coated/Uncoated Refer to page 84.
4  Nut 8 M8 Refer to page 79.
5 Washer 3 M8 Refer to page 79.




»»SINGLE ROD TYPE BRACKET SYSTEMS

i [ ]

Application: Used Product: Recommended Support Range
IE.
E A
Roof Busbar
Warning:

m Notify the length of the rod when ordering.

ELEKTRIK

()
» MODEL APPLICATIONS )"99

TP 132

No

a B WwN =

44

Description

EAE "S" Type Draw-in Anchor
Rod

DL “U" Bracket

Nut

Washer

Number of pieces
in the system

1

W W = =

Remark

M8

M8
Coated/Uncoated

M8

M8

Ref.Page

Refer to page 80.
Refer to page 79.
Refer to page 84.
Refer to page 79.
Refer to page 79.

WWW.

ic.com



»»SINGLE ROD TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )\%‘

fl

8] o o 0o o o

5
1 2
4
Application: Used Product: Recommended Support Range
=
H A A
Roof Busbar
Warning:
m Notify the length of the rod when ordering.
TP 133
No Description NL!mber phipisces Remark Ref.Page
in the system
1 EAE"S" type draw-in anchor 1 M8 Refer to page 80.
2 Rod 1 M8 Refer to page 79.
3 DL/SL Multifunctional Bracket 1 Coated/Uncoated Refer to page 84.
4 Nut 2 M8 Refer to page 79.
5  Washer 2 M8 Refer to page 79.




»»SINGLE ROD TYPE BRACKET SYSTEMS

Application: Used Product: Recommended Support Range
=
E A
Roof Busbar
Warning:

m Notify the length of the rod when ordering.

ELEKTRIK

()
> MODEL APPLICATIONS )0-,7

TP 134

Number of pieces

No Description in the system Remark

1 EAE"S" Type Draw-in Anchor 1 M8

2  Rod 1 M8

3 DL "L" Bracket 1 Coated/Uncoated
4 Nut 8 M8

5 Washer 3 M8

46

Ref.Page

Refer to page 80.
Refer to page 79.
Refer to page 84.
Refer to page 79.
Refer to page 79.

WWW. lectric.com



»»SINGLE ROD TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )"96‘

i i

Application: Used Product: Recommended Support Range
=
E A
Roof Busbar
Warning:

m Notify the length of the rod when ordering.

TP 135

No Description NL!mber phipieces Remark Ref.Page
in the system
1  EAE"S" Type Draw-in Anchor 1 M8 Refer to page 80.
2 Rod 1 M8 Refer to page 79.
3 KAM'" Frame Bracket 1 Coated/Uncoated Refer to page 84.
4  Nut 8 M8 Refer to page 79.
5 Washer 3 M8 Refer to page 79.

WWW. lectric.com 47



»»DUAL RODS TYPE BRACKET SYSTEMS

ELEKTRIK

()
» MODEL APPLICATIONS )"96‘

Al

>0

e

Application: Used Product: Recommended Support Range
1.5 m
— < >
El
-1 A A
Steel Busbar

Construction

Warning:
m M12 should be used for 1600A and.
m Notify the length of the rod when ordering.

TP 136
No Description NL::?:; :;:tlz::‘es Remark Ref.Page

1  Joint Clamp 2 M10/ M12 Refer to page 82.
2  Rod 2 M10/M12 Refer to page 79.
3 KX Angle Bracket Fittings 2 - Refer to page 83.
4 Nut 6 M10/M12 Refer to page 79.
5 Washer 6 M10/ M12 Refer to page 79.
6 UAS-K5 1 Its length may vary according to the tray width. Refer to page 77.

48 WWW. lectric.com




»»DUAL RODS TYPE BRACKET SYSTEMS

dp_gi==
i

i | — - - =1

%m}f 7
2 2
3 4
Application: Used Product: Recommended Support Range
=
E A
Roof Busbar
Warning:

m M12 should be used for 1600A and above busbar systems.
m Notify the length of the rod when ordering.
m Where 2 or more busbars are to be used side by side, the installation spacing rules in Figure 1 should be followed.

100,

B

—
e

150,

| BUSBAR-1_|

L]
1

I

BUSBAR-2

ELEKTRIK

——===1]
i | —===1g]

100,

D B GRY B GRD [ SR |

3

(NN

itiy

Figure 1

E:}f’:@@@

TP 137
No Description NL:':?:; :;:tlee;es Remark Ref.Page

1  EAE Steel Dowel 4 M10 Refer to page 80.
2 UDY 150 2 - Refer to page 65.
3 Rod 2 M10/M12 Refer to page 79.
4 BR452 1 This product is used for busbar mounting between floors. Refer to page 78.
5 Nut 8 M10/M12 Refer to page 79.
6  Washer 8 M10/M12 Refer to page 79.
7 KX Angle Bracket Fittings 2 - Refer to page 83.
8  Fast Binrak Nut 2 M10/M12 Refer to page 81.

WWW.

ic.com

49




»»DUAL RODS TYPE BRACKET SYSTEMS

B

\m)cma?

=

A

o
f
il

ELEKTRIK

()
> MODEL APPLICATIONS )"’:9

| . 2
S
Application: Used Product: Recommended Support Range
=
E A
Roof Busbar
Warning:
m M12 should be used for 1600A and above busbar systems.
m Notify the length of the rod when ordering.
TP 138
No Description NL!mber phipisces Remark Ref.Page
in the system
1  Steel "S" type Dowel “I" 2 M10/M12 Refer to page 80.
2 Rod 2 M10/M12 Refer to page 79.
3  KXangle Bracket Fittings 4 - Refer to page 83.
4 Washer 10 M10/M12 Refer to page 79.
5 UPY Console 2 Its length may vary according to the tray width. Refer to page 79.
6 Nut 10 M10/M12 Refer to page 79.

50

WWW.

ic.com



»» DUAL RODS TYPE BRACKET SYSTEMS

ELEKTRIK

()
> MODEL APPLICATIONS )"9.9

)

®

f ,
1\CD -, gﬁ D)
= x
3
Application: Used Product: Recommended Support Range
1.5 m
— < >
=]
L i | A
Steel Busbar Cable Tray
Construction

Warning:

m KX angle bracket fittings should be ordered when a busbar will be installed to the systems.
m 1M12 should be used for 1600A and above busbar systems.

m Notify the length of the rod when ordering.

TP 139

No Description NL!mber plipieces Remark Ref.Page
in the system

1 BR1-33 Beam Retaining (41 x 41) 1 This product should be used in double row binraks as BR1-34  Refer to page 78.
2 Nut 2 M10/M12 Refer to page 79.
3 BR452 1 This product load volue and vary between tray width. Refer to page 79.
4 Rod 2 M10/M12 Refer to page 79.
5 Washer 1 M10/M12 Refer to page 79.
6 LP3 1 This product load volue and vary between tray width. Refer to page 75.
7 M6 x 12 Extension Bolt 2 - Refer to page 82.

WWW. lectric.com 5 1




»»DUAL RODS TYPE BRACKET SYSTEMS

ELEKTRIK

> MODEL APPLICATIONS

Qoo

L B ’7

[ I S
\”DODODODG‘DUOU%UOUDU(Dgﬁ @
N

| ] —

\:DODODODG’DUDUEUDUDDDD§ @

oo ocodioo
] Josl

[Hoto0o00lo0o030000000

s
==

6
5
4
Application: Used Product: Recommended Support Range
v,vv] g
t—>
— A A

Prefabricated Cable Tray

Roof
Warning:

m Instead of the horizontal console # 4, products such as AT4, MKT, LP2, LP3 profile can be used according to weight or
preference.
m Notify the length of the rod when ordering.

TP 140

Number of pieces

No Description in the system Remark Ref.Page

1  V-Support 2 - Refer to page 78.
2 Nut 20 M10 Refer to page 79.
3 Rod 2 M10 Refer to page 79.
4 AT4 8 Its length may vary according to the tray width. Refer to page 79.
5 Washer 20 M10 Refer to page 79.
6 M6 x 12 Extension Bolt 6 - Refer to page 82.

52 WWW.

ic.com



»»REFERENCES &

ELEKTRIK

WWW. lectric.com 53




VERTICAL SHAFT
BRACKET SYSTEMS







»»VERTICAL SHAFT BRACKET SYSTEMS

ELEKTRIK

(L

L—
Application: Used Product: Recommended Support Range

L For shafts with a floor height 4.5 mm
2 = =) and above brackets shall be
mounted between floors

Shaft Space Busbar
Warning:
m This product is used for busbar mounting between floors.
TP 141
No Description NL!mber phipieces Remark Ref.Page
in the system
1 EAE M12 Steel Dowel 4 M10 - M12 Refer to page 80.
2 KO Il Vertical Shaft Bracket Retaining Kit 280mm 1 - Refer to page 83.
3 VERTICAL SHAFT BRACKET FRAME B:290 C:280 1 Lt ey Wy W 9 Beseeig SEme) | = o co i

and requirement.

56 WWW. lectric.com




»»VERTICAL SHAFT BRACKET SYST

EMS

(g) Lz
=" ="
] B [
=0 =
o &
= =
B
A — 7 C
[=® o |[.® ¥ e ]

1L

Application: Used Product: Recommended Support Range
- For shafts with a floor height 4.5
W7 NN ],E[ mm and above brackets shall be
mounted between floors
Shaft Space Busbar
Warning:
m This product is used for busbar mounting between floors.
TP 142
No Description NL-|mber of pieces Remark
in the system
1 EAE M12 Steel Dowel 4 M10 - M12

2 KO Il Vertical Shaft Bracket Retaining Kit 330mm

3 VERTICAL SHAFT BRACKET FRAME B:700 C:350

1 o

Length may vary up to according demand

L and requirement.

WWW. lectric.com

ELEKTRIK

Ref.Page

Refer to page 80.
Refer to page 83.

Refer to page 85.

57




»»VERTICAL SHAFT BRACKET SYSTEMS

ELEKTRIK

[=

\

(===

Application: Used Product: Recommended Support Range

L For shafts with a floor height 4.5 mm
2 = =) and above brackets shall be
mounted between floors

Shaft Space Busbar
Warning:
m This product is used for busbar mounting between floors.
TP 143
No Description NL!mber phipieces Remark Ref.Page
in the system
1  EAE Steel Dowel 4 M10 - M12 Refer to page 80.
2 Vertical Shaft Bracket Retaining Kit 240mm 1 - Refer to page 83.
3 VERTICAL SHAFT BRACKET FRAME B:250 C:240 1 Ly Oy p i ey s e | o s

and requirement.

58 WWW. lectric.com




»»VERTICAL SHAFT BRACKET SYSTEMS

ELEKTRIK

Application: Used Product: Recommended Support Range
- For shafts with a floor height 4.5
W7 NN ],E[ mm and above brackets shall be
mounted between floors
Shaft Space Busbar
Warning:

m This product is used for busbar mounting between floors.

TP 144

No

1  EAE Steel Dowel
2  Vertical Shaft Bracket Frame B:600 C:240

3 VERTICAL SHAFT BRACKET FRAME B:600 C:350

Description

Number of pieces

in the system Remark Ref.Page
4 M10 - M12 Refer to page 80.
! - Refer to page 83.

Length may vary up to according to demand

L and requirement.

Refer to page 85.

WWW. lectric.com 59




»»VERTICAL SHAFT BRACKET SYSTEMS

ELEKTRIK

D
> MODEL APPLICATIONS )70

Application: Used Product: Recommended Support Range

- For shafts with a floor height 4.5 mm
2 = =) and above brackets shall be
mounted between floors

Shaft Space Busbar
Warning:
m This product is used for busbar mounting between floors.
TP 145
No Description NL!mber phipieces Remark Ref.Page
in the system
1 EAE M12 Steel Dowel 4 M12 Refer to page 80.
2 KX Vertical Shaft Bracket Retaining Kit 330mm 1 - Refer to page 83.
3 VERTICAL SHAFT BRACKET FRAME B:250 C:330 1 MEE ) GER7VEL U T I Gl 0 C EE

and requirement. Refer to page 85.

60

WWW. lectric.com



»»VERTICAL SHAFT BRACKET SYSTEMS

ELEKTRIK

> MODEL APPLICATIONS

Application: Used Product: Recommended Support Range

- For shafts with a floor height 4.5
2 = ]E[ mm and above brackets shall be
mounted between floors

Shaft Space Busbar
Warning:
m This product is used for busbar mounting between floors.
TP 146
No Description NL!mber phipisces Remark Ref.Page
in the system
1  EAE M12 Steel Dowel 4 M12 Refer to page 80.
2 KX Vertical Shaft Bracket Retaining Kit 330mm 1 - Refer to page 83.
3 VERTICAL SHAFT BRACKET FRAME B:700 C:350 1 Lt ey Wy 0 0 A0t g DGl | = p e

and requirement.

WWW. lectric.com 6 1




»»VERTICAL SHAFT BRACKET SYSTEMS

ELEKTRIK

D
> MODEL APPLICATIONS )7)

Application: Used Product: Recommended Support Range
- For shafts with a floor height 4.5 m and
Z1 = =l above brackets shall be
mounted between floors
Shaft Space Busbar
Warning:

m This product is used for busbar mounting between floors.

TP 147

No Description

1 EAE M12 Steel Dowel
2 KX Vertical Shaft Bracket Retaining Kit 330mm
3 KX Vertical Shaft Bracket Retaining Kit 330mm

4 VERTICAL SHAFT BRACKET FRAME B:700 C:350

62

Number of pieces

in the system Remark Ref.Page
4 M12 Refer to page 80.
! - Refer to page 83.
! - Refer to page 83.
1 Length may vary up to according to demand R (05,

and requirement.

WWW. lectric.com



»»REFERENCES &

ELEKTRIK

WWW. lectric.com 63




ELEKTRIK

»Design Form

*asn umo JnoA 1oy abed siy1 e1eoldnp eses|d

: ainjeubig
areq

aweN

Aq peatedald

oN 108loid
109[01d
Auedwo)

Ayuenp

jusuodwon way

1S wauodwo)

lectric.com

WWW.

64



ELEKTRIK

»Design Form

‘asn umo JnoA 1o} abed siy} a1eoldnp eses|d

: ainjeubis
areq

aweN

Aq peatedald

ON 109loid
109l01d
Auedwo)

Anuenp

jusuodwon way

1S wauodwo)

65

lectric.com

WWW.




»»ORDER CODE

ELEKTRIK

»ETS-D SUPPORT
Width Thickness  Weight Hot Di

Description ® (kg/ad)  Order Code
ETS-D 050 SUPPORT FITTINGS 70 0,191 3048986
ETS-D 100 SUPPORT FITTINGS 120 0,256 3048987
ETS-D 150 SUPPORT FITTINGS 170 0,325 3048988
ETS-D 200 SUPPORT FITTINGS 220 0392 3048989
ETS-D 300 SUPPORT FITTINGS 320 0,679 3048990
ETS-D 400 SUPPORT FITTINGS 420 0,850 3048991
ETS-D 500 SUPPORT FITTINGS 520 1,021 3048992
ETS-D 600 SUPPORT FITTINGS 620 1192 3048993

NN NN NN NS

ETS-D MAX. LOAD and DEFLECTION VALUES
. O O
— 50 250
50 100 300
- 150 125 |[']0 400 O
. 200 0 500 175 || |0
600
3 O O
600
i 30 Rﬁ t— 50 — O
25 f
7 400 20 O
// 300 . — 50 —|
P f | j250
S o B 1 é Max. allowed load value in kg.
//: B et ft 100 5
0 10 2(I) ;0 4(I) 5‘0 6‘0 7‘0 8‘0 90 100 110 120 130 140 E ConSOIe Iength (mm)
é Rﬁ' Under the console load allowed, the bending
(mm) at the end of the hanger support

»STS-D TRAY SUPPORT

. Width  Thickness Weight Hot Di
Description ® m (kg/gd) Order Ctgie

STS-D 100 SUPPORT FITTINGS 120 2 0,429 3007933
STS-D 150 SUPPORT FITTINGS 170 2 0,466 3007932
STS-D 200 SUPPORT FITTINGS 220 2 0,530 3007931
STS-D 250 SUPPORT FITTINGS 270 2 0811 3007930
STS-D 300 SUPPORT FITTINGS 320 2 0917 3007929
STS-D 400 SUPPORT FITTINGS 420 2 1,089 3007928
STS-D 500 SUPPORT FITTINGS 520 2 1,266 3007927
STS-D 600 SUPPORT FITTINGS 620 2 1,419 3007926
STS-D MAX. LOAD and DEFLECTION VALUES _—4 4
L O 17 (@D
— 100 o 250
50 150 T 300
, 200 | © 1 400 O
o 12)1(22 500 3
. O 600 | O
600 " ‘ ‘ 12)\(22
500 : — 65 ([@»)
- 1 . ]

é Max. allowed load value in kg.

v,

tererep e e R E Console length (mm)
0O 20 40 60 80 7100 120 140 160 180 200 220 240 260 300

g IYE' Under the console load allowed, the bending
(mm) at the end of the hanger support

66 WWW. lectric.com




»»ORDER CODE

» TS TRAY SUPPORTS
Description w(ig"‘ Th'c('f\;‘ess ﬁ;;g:,')t Pregalvanized
TS 050 55 2 0,107 3008556
TS 100 105 2 0,165 3008554
TS 150 155 2 0,224 3008552
TS 200 205 2 0,283 3008550
TS 250 255 2 0,474 3008548
TS 300 305 2 0,552 3008546
TS 400 405 2 0,710 3008544
TS 500 505 2 0,868 3008542
TS 600 605 2 1,025 3005827

Weight
(kg/ad)

0,118
0,182
0,246
0,311
0,521
0,607
0,781
0,955
1,128

Hot Dip
Order Code

3008557
3008555
3008553
3008551
3008549
3008547
3008545
3008543
3005828

ELEKTRIK

N

TS MAX. LOAD and DEFLECTIONS VALUES

L

—

50

45

40

35
600

30

20

// 300
/ 7 120 1
/ Pt L 1200 10
o il e i ‘

t
E
20 30 40 50 60 70 80

90 100 110 120 130 140

» A-STS-D HEAVY DUTY SUPPORTS

Description “@)ﬂ‘ He(L%h‘ Thic},‘{‘ess ﬁg}gg‘
A-STS-D 210 210 190 3 1,149
A-STS-D 310 310 190 3 1,586
A-STS-D 410 410 240 3 2,190
A-STS-D 510 510 240 3 2,869
A-STS-D 610 610 240 3 3,455
A-STS-D 710 710 290 3 4,431
A-STS-D 810 810 290 3 4,933
A-STS-D 910 910 290 3 5,435
A-STS-D 1010 1010 290 3 5,936

Hot Dip
Order Code

3109007
3109008
3109009
3109010
3109011
3109012
3109013
3109014
3109015

A-STS-D MAX. LOAD and DEFLECTIONS VALUES

L

16
e
/ 800
700 12
600
/; /;Amﬂ 10 yif
/// / 400 .
! 300
rad A. P2 i 6
/ ! ! 200
7 SEP_ e T | 4
1
L = 2
i i
0 100 200 300 400 500 600

TS50

TS 100
TS 150
TS 200

~o
¢
\
v.
>
- /\&
AN
\
TS 250
TS 300 8 f
TS 400 25
TS 500 @ : 120
TS 600 8
B
/
211
— 40 —

Max. allowed load value in kg.

Console length (mm)

Under the console load allowed, the bending
(mm) at the end of the hanger support

_ ~11X16
= A
o
H o
o
o
45—

Max. allowed load value in kg.

Console length (mm)

Under the console load allowed, the bending
(mm) at the end of the hanger support

67

ic.com

WWW.



»»ORDER CODE

» BINRAK DOUBLE SUPPORT WITH SINGLE HOLES

Description “?'g)m Th'c(l%'ess ﬁ;}ggt 0'!;2}- Eio'ﬁe
BR 6-D-100 150 2 1,069 3110961
BR 6-D-150 200 2 1,302 3110962
BR 6-D-200 250 2 1,535 3110963
BR 6-D-250 300 2 1,768 3110964
BR 6-D-300 350 2 2,001 3110965
BR 6-D-400 450 2 2,467 3110966
BR 6-D-500 550 2 2,933 3110967
BR 6-D-600 650 2 3,399 3110968
BR-5-D / BR-6-D / BR-7-D
E :: 5 600
‘g’ - // 500
3 =
E 10 //’ 400
.§ 8 a 100-300
s -/
i/ B
5 7
e
N a— —— —
0 40 80 120 160 200 240 280 320
Allowed Load (kg)
» A-STK HEAVY DUTY SUPPORTS
Description “@)‘h H‘f,i_ght Thic(kr;‘ess ‘ﬁg}g!;)‘ o gi,'ﬁe
A-STK 200 210 90 8 1,463 3108826
A-STK 300 310 110 & 2,002 3108827
A-STK 400 410 130 3 2,627 3108828
A-STK 500 510 145 3 3,254 3108829
A-STK 600 610 165 5 3,904 3108830
A-STK 700 710 195 3 4,897 3108831
A-STK 800 810 195 8 5,398 3108832
A-STK 900 910 195 3 5,900 3108833
A-STK 1000 1010 195 3 6,401 3108834

A-STK MAX. LOAD and DEFLECTIONS VALUES

KU’

oo

1000

800
700

o
4//// o

200

100 200

600

68

82

44

ELEKTRIK

41

@QQQDQ

o o o o o O

180

50

le [

Max. allowed load value in kg.

Console length (mm)

Under the console load allowed, the bending
(mm) at the end of the hanger support

WWW. lectric.com



»»ORDER CODE

»IDY HEAVY DUTY SUPPORTS (I)

Description Length  BoO  ofer O
IDY 300 300 1,700 3008242
IDY 400 400 2100 3008290
IDY 500 500 2600 3008289
IDY 600 600 3300 3008288
IDY 700 700 3700 3008287
IDY 800 800 4200 3008286
IDY 900 900 4700 3008285
IDY 1000 1000 5300 3008284
IDY 1100 1100 5700 3008283
IDY 1200 1200 6200 3008282
DY 1300 1300 6900 3008236
IDY 1400 1400 7300 3008281
IDY 1500 1500 7900 3008280
IDY 1600 1600 8500 3008241
IDY 1700 1700 8900 3008240
IDY 1800 1800 9,400 3008239
IDY 1900 1900 9,900 3008238
IDY 2000 2000 10500 3008237
IDY 3000 3000 15700 3030391

»UDY HEAVY DUTY SUPPORTS (U)

Description Length  Wodl  ofer O
uDY 150 150 0900 3008376
uDY 300 300 1,800 3008023
UDY 400 400 2400 3008024
UDY 500 500 3000 3008025
UDY 600 600 3,600 3008026
uDY 700 700 4200 3008027
UDY 800 800 4,800 3008028
UDY 900 900 5400 3008029

UDY 1000 1000 6,000 3008030
UDY 1100 1100 6,600 3008031
UDY 1200 1200 7,200 3008032
UDY 1300 1300 7,800 3008033
UDY 1400 1400 8400 3008034
UDY 1500 1500 8900 3008035
UDY 1600 1600 9,600 3008036
UDY 1700 1700 10,200 3008037
UDY 1800 1800 10,800 3008038
UDY 1900 1900 11,400 3008039
UDY 2000 2000 12000 3008040

UDY 150

4

ELEKTRIK

‘*65 —

42

ic.com 69




»»ORDER

CODE

» STS HEAVY DUTY SUPPORTS

V\I(ig)ﬂ\ Thickness Weight

Description

STS 100 SUPPORT FITTINGS
STS 150 SUPPORT FITTINGS
STS 200 SUPPORT FITTINGS
STS 250 SUPPORT FITTINGS
STS 300 SUPPORT FITTINGS
STS 400 SUPPORT FITTINGS
STS 500 SUPPORT FITTINGS
STS 600 SUPPORT FITTINGS

120
170
220
270
320
420
520
620

NN NN NN NS T

(kg/ad)
0,398
0474
0,539
0814
0,920
1,026
1,262
1,425

Hot Dip
Order Code

3008015
3008016
3008017
3008018
3008019
3008020
3008021
3008022

STS MAX YUK ve SEHiM DEGERLERI

50

45

40

35

30

A Ly 2 yjzf
_an0 2
> 1L 300 e
v =
A T i 10
| [[]]
A HEE i
—_— ’ ¥ (| L 1 100:
0 50 I 'IOIU 15‘0 Zl;O 25‘:0 3[;0 400
> KT TRAY SUPPORTS

Deiplon VR T Wt P
KT 050 90 15 0,115 3008572 0,126
KT 100 140 15 0,170 3008570 0,187
KT 150 190 15 0,224 3008568 0,246
KT 200 240 15 0,281 3008566 0,309
KT 250 290 15 0,337 3008564 0,370
KT 300 340 15 0,428 3008562 0,470
KT 400 440 2 0,682 3008560 0,750
KT 500 540 2 0,840 3008558 0924
KT 600 640 2 0,997 3008263 1,097

ELEKTRIK

~
e
o
5T
\ /
.\,.\‘()
Al \ -
O (@»)]
100 50 250
150 N 300 |
200 1% O 400 O
12x32 500 180 50
() 600 ot
]~ 12x22
-~ 54 —|
4
~ 54 —|

Max. allowed load value in kg.

Console length (mm)

Under the console load allowed, the bending
(mm) at the end of the hanger support

Hot Dip
Order Code

3008573
3008571
3008569
3008567
3008565
3008563
3008561
3008559

3008264

KT MAX. LOAD and DEFLECTIONS VALUES

400

» e 250

//// I _!_ ! 150

ik e IR
|

120

140

70

In KT Mounting
Up to A measurement 90-140-190-240 single joiner pin,
From 290 up to 640 double joiner pin is recommended to be used.

Max. allowed load value in kg.

—

—

Console length (mm)

Under the console load allowed, the bending
(mm) at the end of the hanger support

—

WWW. ic.com



»»ORDER CODE

» CEILING FEXING ELEMENT

ELEKTRIK

Description Thic(I%less Tensgll(:)Load %g;g(lj\)t Ortglig} gi:ﬁie
TMP 2 4 900 1,454 3086553
TMP 3 4 900 1,689 3086554
TMP 8 4 500 0,688 3008382 TMP 2
TMP 9 4 500 0,877 3008383
7 - T™MP 3
TMP 2 T™MP 3
~ ~
S ks =~ AT T™MP2-3
7 7 T — T ©o
La (@D
i - 2 = r
2 2 kol () @ g
8 (- 8 @)
! i
13x28 ? 190
13)‘(28
TMP 8
a0 T™MP 8 i B T™MP 9 TMP 8 -9 TMP9O =
L 2 61 o
i 2.@
LT iT
0 * 0 *
ND ND
hand w0 w w0
o o
%& T L s T
5 A
o< O
» CEILING FEXING ELEMENT TMP 44
Description Lezli_ Thic(l%less Ten(sls(g/eplé)oad \ﬁ;}ggt ol!-tllgtr gigie TMP 45
TMP41 Ceiling Support Unit 70 2 500 0318 3008232
TMP42 Ceiling Support Unit 120 2 500 0,487 3008233
TMP43 Ceiling Support Unit 170 2 500 0,856 3008234 TMP 41
TMP44 Ceiling Support Unit 220 2 500 1,936 3008235 TMP 42 /
TMP45 Ceiling Support Unit 320 2 500 3413 3007952 o=
TMP 43 ~,
My
TMP 41-42-43-44-45 MAX. LOAD and DEFLECTIONS VALUES - \2% \l
-15?&& / \L / 3
MP45 10 P 3
® 25 <
/, 90 \F
80
// " \/ \/
/ > 2
60 {o”\ 1 ‘% 1
q q
/ TP 4 "
i 40 Ié Max. allowed load value in kg.
mpas ] 20
,/ ! et " E Console length (mm)
| e —
L Tt 10
E . | L Hanger support distances as indicated
100 0 50 100 150 200 250 in our product Standard
200 0 30 60 90 120 150
300 0 25 50 75 100 125 I
400 0 20 40 60 80 100 m
500 0 15 30 45 60 75 i
600 0 15 30 45 60 75 Under the console load allowed, the bending
g ; (mm) at the end of the hanger support
Load values on the table have been specified based on the TS EN 61537 Standard.

71

WWW. ic.com




»»ORDER CODE

» SUPPORT EXTENSION UNITS

ELEKTRIK

P Thickness Weight Pregalvanized Weight Hot Di
Description (L? Iccr) (ké}gd) Ortier Code (kﬁ}gd) Order Cade
ASU 2A-1 125 2 0,200 3008588 0,220 3008589
ASU 2A-2 250 2 0,367 3008586 0,404 3008587 4 ASU2A-15A-3A 4 ASU 2A - 1,5A
ASU 2A-3 500 2 0,738 3008584 0,812 3008585 St o
ASU 2A-4 1000 2 1477 3008582 1,625 3008583 0 L ¢
ASU 2A-5 2000 2 2,953 3008167 3,248 3008168
ASU 2A-6 3000 2 4,430 3008174 4873 3008175 % 4
ASU 1,5A-4 1000 15 1,103 3086455 1,213 3086459 4 4
ASU 1,5A-5 2000 15 2,206 3086457 2,427 3086460 4 4
ASU 1,5A-6 3000 15 3,309 3086458 3,640 3086461 4 o
ASU 3A-4 1000 8 - - 2,455 3086433 . ’
ASU 3A-5 2000 3 - - 4911 3086434 ‘ 4
ASU 3A-6 3000 3 - - 7,365 3086435 ¢ 4
g (]
ASU 2A - 1,5A - 3A ASU 2A - 1,5A (Hot Dip)
4 -~ 46 —— — 315 |— 46 - 46 —— — 315 |~——
e R i i B R
! @ O SR = @f O —
T > s 25 T © s 25
L S P e T
@ L O—-015 @ L O—-095
== 7|
@ O 50 O
25
@ i O @ O
» CEILING MOUNTING FITTINGS
Descipton T N o o oo,
TMP 6 Ceiling Fixing Modules 2 0269 3008379 0,296 3008380
TMP 6 Ceiling Fixing Modules 4 - - 0,884 3006349
90 130
) ‘ = 015 013
2105 011 @
by Ao
@ 8
- 225
Tq F ' ‘ \ Ti( P 25
L 5
78
B ()
Y 9x14 . 9x50
N e EAE
p OO,
Z\ » o, 48
T Tezmm - |

130°

72

WWW.

ic.com



»»ORDER CODE

ELEKTRIK

» UDBY HEAVY DUTY SUPPORTS (V)

Description " WA order Cace
UDYB 300 350 2866 3007989
UDYB 400 450 3458 3007990
UDYB 500 550 4,048 3007991
UDYB 600 650 4,640 3007992 -
UDYB 700 750 5287 3007993
UDYB 800 850 5856 3007994
UDYB 900 950 6433 3007995
UDYB 1000 1050 7,031 3007996

D

A
\l ®
3
sl o]
» UPD HEAVY DUTY TYPE SUPPORTS
Description Lez}g"’ Te“sgll(‘;)"“d ‘2{;}22} e Q/ \/\\&\
UPD 300 300 900 2,101 3004510 /\ 7
UPD 400 400 900 2,497 3004512 <
UPD 500 500 900 2,882 3004514 \ -
UPD 600 600 900 3267 3004516 6)/ s+
UPD 700 700 900 3674 3004518
UPD 800 800 900 4056 3004519
UPD 900 900 900 4451 3004520
UPD 1000 1000 900 4837 3004521
UPD 1100 1100 900 5226 3004522
UPD 1200 1200 900 5610 3004523
UPD 1300 1300 900 6,006 3004524
UPD 1400 1400 900 6,391 3004525
UPD 1500 1500 900 6,787 3004526 s
UPD 1600 1600 900 772 3004527 .
UPD 1700 1700 900 7,570 3004528 T U D |els
UPD 1800 1800 900 7960 3004529 ] B
UPD 1900 1900 900 8,349 3004530 o
UPD 2000 2000 900 8,741 3004531 T8
UPD 3000 3000 900 12,645 3030393 150
190
UPD LATERAL SURFACE 400-2000 MAX. LOAD & DEFLECTION VALUES
| ¥
800 ”
1600
RS P 2
: : i /”"0 - é Max. allowed load value in kg.
— SRR Rl il WAt = ot 15
LA A 1w E Console length (mm)
A A / i /'4 s 10
i { =" —" T
_________ ¥ /4: : — 5 Hanger support distances as indicated in our
LE ' E:-:—-—-—“""" 4 product Standard
100 0 200 250 400 500 550 600 650 700 750 800 850 900 -7
200 0 150 200 300 350 400 500 550 600 650 700 750 800
20 0 55 133 18 793 275 3% 375 300 450 00 50 600 Under the allowed console load
&b 0 3 75 la0 125 178 338!322 300 30 400 450 500 ;_ Deflection at the support bracket end (mm)
Load values on the table have been specified based on the TS EN 61537 Standard.

WWW. lectric.com 73




»»ORDER CODE

ELEKTRIK

» UPY HEAVY DUTY SUPPORTS (U)

Description Thickriess Length  WelgHt it Gibre uPY — A 8q

UPY 150 3 150 0451 3004419 LR ‘\

UPY 300 3 300 0902 3004420

UPY 400 3 400 1203 3004422

UPY 500 3 500 1507 3004424

UPY 600 3 600 1,804 3004426

UPY 700 3 700 2112 3004428 L

UPY 800 3 800 2398 3004429 Yy

UPY 900 3 900 2695 3004430

UPY 1000 3 1000 3037 3004431

UPY 1100 3 1100 3307 3004432 L

UPY 1200 3 1200 3608 3004433

UPY 1300 3 1300 3905 3004434 ~d

UPY 1400 3 1400 4202 3004435 5

UPY 1500 3 1500 4555 3004436 N,

UPY 1600 3 1600 4818 3004437 ’

UPY 1700 3 1700 5115 3004438

UPY 1800 3 1800 5412 3004439

UPY 1900 3 1900 5712 3004440 UPY

UPY 2000 3 2000 6012 3004441 \H\

UPY 3000 3 3000 9020 3001953 T

UPY 150 4 150 0586 3004486 ‘ &
UPY 300 4 300 1172 3004487 o0
UPY 400 4 400 1562 3004489 g
UPY 500 4 500 1956 3004491 ADD. ° " g
UPY 600 4 600 2343 3004493 0 ®
UPY 700 4 700 2728 3004495 '
UPY 800 4 800 37124 3004496 o
UPY 900 4 900 3515 3004497

UPY 1000 4 1000 3945 3004498

UPY 1100 4 1100 4296 3004499

UPY 1200 4 1200 4686 3004500

UPY 1300 4 1300 5071 3004501

UPY 1400 4 1400 5467 3004502

UPY 1500 4 1500 5917 3004503

UPY 1600 4 1600 6248 3004504

UPY 1700 4 1700 6633 3004505

UPY 1800 4 1800 7,029 3004506

UPY 1900 4 1900 7414 3004507

UPY 2000 4 2000 7,811 3004508

UPY 3000 4 3000 11,716 3001954

» CEILING MOUNTING FITTINGS

Description et o B ™P7 ™P 10

TMP 7 Ceiling Support Unit 1,218 3008381
TMP 10 Ceiling Support Unit 1,298 3007922

Al
/

T™P 7 ) TMP 10 ‘ L
‘ 6 (-
(- . o
== 0 013 lg T U R
L (I = 18T (™
U ™ Oﬁ‘l’\
o ¥ (@
6 118
}]58 @J 150
190 25~ Vo 190

74 WWW. lectric.com




»»ORDER CODE

» STK HEAVY DUTY SUPPORTS

Width Thic(l_(r?ess Weight

Description ® (kg/ad)
STK 100 120 2 0,350
STK 150 170 2 0417
STK 200 220 2 0519
STK 250 270 2 0,892
STK 300 320 2 1,044
STK 400 420 2 1215
STK 500 520 2 1,387
STK 600 620 2 1557

Hot Dip
Order Code

3008198
3008114
3008296
3008295
3008294
3008293
3008292
3008291

STK MAX. LOAD and DEFLECTIONS VALUES

L

—

50

45

40

35
600

30

400

80 120 160 200 240 280 320 360 400 440 480 520 560

===

» STK-M HEAVY DUTY SUPPORTS

Description “{'E)"‘ Thic('%‘ess ﬁg}ggt
STK-M 250 270 2 1,277
STK-M 300 320 2 1,363
STK-M 400 420 2 1,534
STK-M 500 520 2 1,706
STK-M 600 620 2 1,876

Hot Dip
Order Code

3110215
3110216
3110217
3110218
3110219

STK-M Bolt set is provided with the product.

STK MAX. LOAD and DEFLECTIONS VALUES

L

—

50

45

40

35
600

30

HESBE 2
/ 400 20
7
// A 300 s
L 250
l/ /// / 10
2 5

80 120 160 200 240 280 320 360 400 440 480 520 560

==

0 40

ELEKTRIK

S |

47

Max. allowed load value in kg.

Console length (mm)

Under the console load allowed, the bending
(mm) at the end of the hanger support

47

STK-M Bolt Set contains the followi
4 x M10x35 Bolt,

4 x M10 Cup Washer,

4 x M10 Washer,,

4 x M10 Plain Washer,

4 x M10 Nut,

2 x BR1-1 Square Washer, 1 x STK-M Tab

75

WWW.




»»ORDER CODE

ELEKTRIK

»IDD HEAVY DUTY TYPE SUPPORTS

Description Le'(B"h Tensgll(:)Load ﬁg}ggt ot gi(?de - / \/\Q@
IDD 300 300 1200 2,650 3008314 5 >
IDD 400 400 1200 3050 3008313 /
IDD 500 500 1200 3,550 3008312 N \
IDD 600 600 1200 4,250 3008311 = R
IDD 700 700 1200 4,650 3008310 61/
IDD 800 800 1200 5150 3008309 24
IDD 900 900 1200 5650 3008308 /
IDD 1000 1000 1200 6,250 3008307
IDD 1100 1100 1200 6,650 3008306 5
IDD 1200 1200 1200 7,50 3008305 / L
IDD 1300 1300 1200 7,850 3008304
IDD 1400 1400 1200 8,250 3008303
IDD 1500 1500 1200 8,850 3008302
IDD 1600 1600 1200 9,450 3008301 (D
IDD 1700 1700 1200 9,850 3008300 © -
IDD 1800 1800 1200 10,350 3008299 U o |98
IDD 1900 1900 1200 10,850 3008298
IDD 2000 2000 1200 11,450 3008297 / O
IDD 3000 3000 1200 16,650 3030392 178
150
IDD 400-2000 MAX. LOAD and DEFLECTIONS VALUES ‘ 4 ‘ 190
o | . ™~
180 2
1600
{ T 0
el //]211000 é Max. allowed load value in kg.
o i + S e L g 15
. i ! C P I E Console length (mm)
A Lt 10
L L~ —1 600
R | /4, e /_'_ il ° Hanger support distances as indicated in our
E ééﬁ——-———"’ product Standard
100 0 200 400 600 800 1000 1050 1075 1110 1125 1150 1175 1200
200 0 175 350 500 700 850 900 925 950 1000 1050 1100 1100
300 0 150 300 400 500 600 700 725 750 775 800 825 850
‘AR S S E R R RN Under the console load allowed, the
600 0 75 150 200 250 300 3504400 450 500 550 600 650 ; bending (mm) at the end of the hanger support
Load values on t;e table have been specified based on the TS EN 61537 Standard.
» SUPPORT FITTINGS N IDT ITP
Description Thickness Welght oo Obie acy > = -
IDT Support Fittings 4 0815 3008279 10 ‘\ - T
ITP Retainer 4 0801 3004336 10 > A
IDK Support Fittings 4 0,226 3008278 20
IDK Conduit Joint 25 0,081 3006348 = \/ S //\
1-80 I Profile Add. 25 0312 3008231 20 -
IDY Protective Cap - 1002278 - IDK Conduit Joint P ~._IDK
R 3 -
» SUPPORT FITTINGS (Alkali Zinc) 0! /“/‘ //;:/%\Z\
- : . - 50 <& ~
Description Thickness We/d  Orear Gode \ SI
TP 1 Tespit Parcasi 25 0050 3006649 -~ 10
TP 2 Tespit Pargasi 6 0,134 3006350 L
24 1 N
125" 2.sx24> ~
1-80 Joint
TP 1 TP 2
& .
P ™~ = <\>9’/ /\®\ ]\
> q i
25 (/4 / 6 (/ / > 0 IDY Protective Cap
> / =N \ ‘
5
\/

76

WWW. ic.com



»»ORDER CODE

» UDD HEAVY DUTY SUPPORTS

et U Y o,
uDD 300 300 1000 2,750 3007997
UDD 400 400 1000 3,350 3007998
UDD 500 500 1000 3,950 3007999
UDD 600 600 1000 4550 3008000
uDD 700 700 1000 5150 3008001
UDD 800 800 1000 5750 3008002
UDD 900 900 1000 6,350 3008003
UDD 1000 1000 1000 6,950 3008004
UDD 1100 1100 1000 7,550 3008005
UDD 1200 1200 1000 8,150 3008006
UDD 1300 1300 1000 8,750 3008007
UDD 1400 1400 1000 9,350 3008008
UDD 1500 1500 1000 9,850 3008009
UDD 1600 1600 1000 10,550 3008010
UDD 1700 1700 1000 11,150 3008011
UDD 1800 1800 1000 11,750 3008012
UDD 1900 1900 1000 12,350 3008013
UDD 2000 2000 1000 12950 3008014
UDD 400-2000 MAX. LOAD and DEFLECTIONS VALUES
| %
) 2
1600
| 1400, 20
! 1200
Pl -i-/ ;;ﬁ 1o .
)
_____ 1972 a8 e
— T
100 0 200 300 450 600 850 900 925 950 975 1000 1050 1000
200 0 150 250 350 500 650 800 825 850 875 900 925 950
W 0 Tab 173 750 325 400 00 575 S50 13 600 650 700
500 0 75 150 200 250 325 400 425 450 500 550 600 650
600 0 50 100 150 200 250 300!350 400 450 500 550 600
» CEILING MOUNTING FITTINGS
Description Th'cakf)‘es %g}g!,‘)t R
U-65 U Profile Add. Fittings 25 0,191 3006642
UDY Protective Cover - 0,256 1002279

UDY Protective Cover

ELEKTRIK

@
o —
T () D |28
s
118
150
190

Max. allowed load value in kg.

Console length (mm)

Hanger support distances as indicated in our
product Standard

15

=

Under the console load allowed, the
bending (mm) at the end of the hanger support

Load values on the table have been specified based on the TS EN 61537 Standard.

uby
o ¥
0,
-
U-65 0%
e
)
o
2 0¥
0 o
0
-

W

A

o

WWW. lectric.com 77




»»ORDER CODE

/ \/\'3 i
~N ELEKTRIK
» PDD UNIVERSAL SUPPORTS S
P Thick Length TensileLoad Tensile Load Weight Hot Di
Descrpion Telgess Lepgh T Tpelod Mol BB
PDD 300 2 300 500 750 1,909 3007953 \ =
Sy
PDD 400 2 400 500 750 2230 3007954 1/ ~S
PDD 500 2 500 500 750 25553 3007955 6
PDD 600 2 600 500 750 2,871 3007956
PDD 700 2 700 500 750 3518 3007957
PDD 800 2 800 500 750 3841 3007958
PDD 900 2 900 500 750 4,160 3007959
PDD 1000 2 1000 500 750 4,485 3007960 L
PDD 1100 2 1100 500 750 4,807 3007961
PDD 1200 2 1200 500 750 5129 3007962
PDD1300 2 1300 500 750 5451 3007963 . . - i
PDD 1400 2 1400 500 750 5773 3007964 o (] 92
PDD 1500 2 1500 500 750 6,093 3007965 -
PDD 1600 2 1600 500 750 6,421 3007966 e
PDD 1700 2 1700 500 750 6,737 3007967 2
PDD 1800 2 1800 500 750 7,059 3007968
PDD 1900 2 1900 500 750 7,381 3007969
PDD 2000 2 2000 500 750 7,703 3007970 - s
0"
PDD FRONT SURFACE 400-2000 MAX. LOAD & DEFLECTION VALUES PDD SIDE SURFACE 400-2000 MAX. LOAD & DEFLECTION VALUES
35 i 2000 3 ! 2000
30 30
1800 1800
25 -~ 25 -~
! | 600 | {1600
20 ASRMRRRRRAS Vel AP e 20 peaal i e
e A e P e T
ERERSS casth) -cceERERES) 1200 15 = anitas L
1 11000 i T T 1000
LT ! ! s T
= 800 = e e e
600 i — 600
=400 e =400
100 0 40 80 120 180 220 300 100 0 100 250 350 550 650 750
200 0 40 80 120 180 220 300 200 0 100 250 350 550 650 750
300 0 30 80 100 140 160 200 300 0 75 150 250 350 450 500
400 0 25 50 75 90 120 150 400 0 60 120 200 240 300 340
500 0 20 30 50 75 90 120 500 0 40 80 120 180 220 300
600 0 15 25 40 ! 60 75 90 600 0 25 75 100! 125 150 200
» UNIVERSAL SUPPORTS
Descrpton T gt g R,
PDDB 300 2 350 1898 3007971
PDDB 400 2 450 2226 3007972
PDDB 500 2 550 2,552 3007973 ~
PDDB 600 2 650 2879 3007974
PDDB 700 2 750 3207 3007975
PDDB 800 2 850 3534 3007976
PDDB 900 2 950 3861 3007977
PDDB 1000 2 1050 4188 3007978 \
13
¢

T8 Sio\

78 WWW. lectric.com




»»ORDER CODE

» TRAY SUPPORTS FOR THREADED RODS (L)

ELEKTRIK

Description i | g | et R
LP2 1000 2 1000 0980 3001959 3001960
LP2 2000 2 2000 1959 3001961 3001962
LP2 3000 2 3000 2939 3001963 3001964
LP2 >
PN .
\s/
LP2 MAX. LOAD & DEFLECTION VALUES | /
L SN e
— WS
40 T\ K)
\/
35 >
/L5.99 % ™
. 2
400 - {
5 Lf
f1EL Doeetl
250 18
- 1200 10 é Max. allowed load value in kg.
5]
E Console length (mm)
160 200 240 280
é I?ﬁ;' Under the allowed console load
Deflection at the support bracket end (mm)
»HEAVY DUTY SUPPORTS (L) i’
Descipton Ticiness | Lepgh | Weaht | Hothi, 9
LP3 1000 3 1000 1781 3004563 LP3 E P
LP3 2000 3 2000 3,566 3004565 L
LP3 3000 3 3000 5350 3004566 LP4 50 %
LP4 1000 4 1000 2323 3004568 /‘
LP4 2000 4 2000 4,651 3004570 \
LP4 3000 4 3000 6979 3004571 | 50 \@ <
47\ -
f o
\"’3&%
- /
™
LP3 MAX. LOAD and DEFLECTIONS VALUES LP4 MAX. LOAD and DEFLECTIONS VALUES
— —
40 40
35 35
600 . 00 -
A4 50 25 5_qu 25
A Bl N ' 420 » ;
i e i vl i
L] e 300 15 / 0 15
L~ e 250 74250
/I/// 1 f E : =t 12001 10 ///'/ ET : ; .KIQQ 10
¥ i + i x T i L 150 ? T x i I |
/A,///+ e e e Z et L 5150 Wit s
0 50 100 1?;0 2(‘)0 2;0 3[‘]0 3;)0 4(‘)0 4;)0 5(‘)0 5;0 660 650 700 3(‘]0 I 6[‘]0 I 960 I 12‘00 I 1500 1800 2100

WWW. lectric.com 79




»»ORDER CODE

ELEKTRIK

» CEILING MOUNTING FITTINGS

Description ca@‘;'y Welght  SllgliZine “U" Ceiling Mounting Fitting  “L" Ceiling Mounting Fitting
"U" Ceiling Mounting Fitting 70 0,191 3048986

"L" Ceiling Mounting Fitting 120 0,256 3048987

N 2T

» TRAY SUPPORTS FOR THREADED RODS

Descrption  Tikness Wilh gt Psgphanized et ot
AT3 050 1,5 50 0,091 3008276 0,100 3008277
AT3 100 15 100 0,700 3008274 0,110 3008275
AT3 150 15 150 0,730 3008272 0,143 3008273
AT3 200 1,5 200 0,155 3008270 0,171 3008271
AT3 250 1,5 250 0,179 3008268 0,197 3008269
AT3 300 15 300 0,203 3008266 0,223 3008267

040 AT5 100 25 97 0,080 3006412 = =
040 AT5 200 2,5 197 0,149 3006413 = -
060 AT5 100 2,5 97 0,700 3006415 = -
060 AT5 200 2,5 197 0,168 3006416 - -

AT3 MAX. LOAD and DEFLECTIONS VALUES

300 15
i ] 250 /
d 0
150 L
/ 1100

/ 7 / i ) Z/
A
I 60 80 100 120 140 T

AT5 MAX. LOAD and DEFLECTIONS VALUES T %\ \

- m -

i i .
- ' 0-100 160-100 5 é Max. allowed load value in kg.

Console length (mm)

60 80 100 120 140
! l?i, Under the console load allowed, the bending
(mm) at the end of the hanger support

80 WWW. lectric.com




»»ORDER CODE

ELEKTRIK

» TRAY SUPPORTS FOR THREADED RODS (L)

Description (nﬁn) (mBm) Thic(lgess ‘?43}25‘ P?r%lﬂu‘r’?:giégd ‘{‘(3525‘)‘ OrI:Iig} (D:Lpde

AT4 050 125 8 2 0120 3007950 0,132 3007951

AT4 100 175 135 2 0168 3007948 0,184 3007949

AT4 150 225 185 2 0215 3007946 0,236 3007947

AT4 200 275 235 2 0262 3007944 0,288 3007945

AT4 250 325 285 2 0310 3007942 0341 3007943

AT4 300 375 335 2 0357 3007940 0,392 3007941

AT4 400 475 435 2 0457 3007938 0502 3007939

AT4 500 575 535 2 0557 3007936 0,601 3007937

AT4 600 675 635 2 0642 3005829 0,706 3005830 AT4 \\
AT41000 1075 1035 2 e

1,021 3007934 1,123 3007935 > /\
) 2t //////f/f/iij::\\‘.h‘

AT4 MAX. LOAD and DEFLECTIONS VALUES
L

—

80
70
60
1000
/ 50
" 40 ?f
// ,600 30 *
;/ // /5005 400 ]
/ i /'C/ ?/ :300 o Al : é Max. allowed load value in kg.
= e s RN BRSERE SRR e B
: v 22t eaasa 1S5 GG SGERd HEREHEERED —
0 40 80 120 160 200 240 280 320 360 400 440 480 520 560 ConSOIe Iength (mm)
é Rﬁ' Under the console load allowed, the bending
(mm) at the end of the hanger support
» UNIVERSAL SUPPORTS
Description "eff_?'h Th"’}%‘ess ‘{{g}g{,‘)‘ O;',gﬁg:g,e
UAS-K5 SUPPORT (1) 200 5 0,751 3005324

UAS-K5 SUPPORT (2) 250
UAS-K5 SUPPORT (3) 300
UAS-K5 SUPPORT (4) 350 1313 3005321
UAS-K5 SUPPORT (5) 400 1501 3005320

5 0938 3005323

5

5

5
UAS-K5 SUPPORT (6) 500 5 1,876 3005319

5

5

5

1,126 3005322

UAS-K5 SUPPORT (7) 600 2,252 3005318
UAS-K5 SUPPORT (8) 700 2,627 3005317
UAS-K5 SUPPORT (9) 1100 4129 3005316

UAS-K5 MAX. LOAD and DEFLECTIONS VALUES

— L
12 A 50
f
1000 %0 32 ‘
700 u{j‘@q)c‘)@@ 5150
600 1
/ 5 Lo | [ so | 13er

ya
/ 500 b
400 A= Cable Tray size
J @%f
/ - 302950-

200

I
I
I
AL N

/
é// =i 150
/AIZ ,_, ______ : B 2 é Max. allowed load value in kg.

| E Console length (mm)

0 500 1000 1500 2000 2500

Iél IYE' Under the console load allowed, the bending
(mm) at the end of the hanger support

WWW. lectric.com 8 1




»»ORDER CODE

» BINRAK CHANNEL (41x41mm)

Description Thickgess Woidh  Pograne
BR 401 BiNRAK 15 2 3008328
BR 452 BINRAK 2,0 2 3005312
BR 462 BINRAK 2,5 2 3005314
BR 453 BiNRAK 2,0 2 3006383
BR 463 BINRAK 2,5 2 3006385

d Weight Hot Dip
(kg/ad) Order Code
0,791 3048986
0,256 3048987
0,325 3048988
0,392 3048989
0,679 3048990

BR 401 - 1,5 mm

BR 452 - 2,0 mm
BR 462 - 2,5 mm

ELEKTRIK

L{ 41 41

BR 453 - 2,0 mm
BR 463 - 2,5 mm

L ST ST
'4\ S 6:?’/\ /o?/\
L=3000 mm R R
L=3000 mm L=3000 mm
» BINRAK FIXING ACCESSORIES
Description Th'cckr?ess ‘{ﬁg}gg‘ oSt ip,
BR 1-33 Beam Clamp (41x41mm) 6 0,473 3000207
BR 1-34 Beam Clamp (41x82mm) 6 0,563 3000213
5 1
BR 1-33 BR 1-34 \ Maks.: 16mm
O Ol 0o o o o O
>V SUPPORT
Description N
V Support Fittings 0,193 3063023

82

“V" SUPPORT

WWW. lectric.com



»»ORDER CODE

» FIXING ACCESSORIES

Description V(ng;gdl;t Order Code
Hex. Head Bolt (M6x20) 0,007 1000550
Hex. Head Bolt (M8x20) 0,012 1000559
Hex. Head Bolt (M10x30) 0,027 1000566
Hex. Head Bolt (M12x30) 0,039 1000695
M6 Spring Traverse Nut 0,030 1004216
M8 Spring Traverse Nut 0,028 1001311
M10 Spring Traverse Nut 0,039 1001312
M12 Spring Traverse Nut 0,038 1001313
M6 Traverse Nut 0,020 1003108
M8 Traverse Nut 0,025 1003105
M10 Traverse Nut 0,035 1003106
M12 Traverse Nut 0,038 1003107
Extension Nut (M8) 0,030 1004313
Extension Nut (M10) 0,070 1004312
Extension Nut (M12) 0,115 1004282
“T" Support (M8x500) 0,145 5000039
“T" Support (M8x1000) 0,295 5000038
“T" Support (M8x1500) 0,440 5000035
“T" Support (M8x2000) 0,600 5000036
“T" Support (M8x3000) 0,897 5000006
“T" Support (M10x500) 0,245 5000037
“T" Support (M10x1000) 0,490 5000032
“T" Support (M10x1500) 0,735 5000031
“T" Support (M10x2000) 1,030 5000030
"T" Support (M10x3000) 1,520 5000029
“T" Support (M12x500) 0,350 5000026
“T" Support (M12x1000) 0,700 5000034
“T" Support (M12x1500) 1,010 5000025
“T" Support (M12x2000) 1,300 5000024
“T" Support (M12x3000) 2,100 5000000
Rod Bracket (M6x1000) Electro galvanized 0,222 5000357
Rod Bracket (M6x2000) Electro galvanized 0,444 5000358
Rod Bracket(M6x3000) Electro galvanized 0,666 5000359
Rod Bracket (M8x500) Electro galvanized 0,145 5000169
Rod Bracket(M8x1000) Electro galvanized 0,295 5000170
Rod Bracket (M8x1500) Electro galvanized 0,440 5000171
Rod Bracket (M8x2000) Electro galvanized 0,600 1004220
Rod Bracket (M8x3000) Electro galvanized 0,897 5000302
Rod Bracket (M10x500) Electro galvanized 0,245 5000172
Rod Bracket (M10x1000) Electro galvanized 0,490 5000173
Rod Bracket (M10x1500) Electro galvanized 0,735 5000174
Rod Bracket (M10x2000) Electro galvanized 1,030 5000175
Rod Bracket (M10x3000) Electro galvanized 1,571 5000301
Rod Bracket (M12x500) Electro galvanized 0,350 5000176
M6 Steel Nut 0,004 1000520
M8 Steel Nut 0,005 1000521
M10 Steel Nut 0,010 1000522
M12 Steel Nut 0,015 1000964
M6 Flanged Nut 0,007 1001091
M8 Flanged Nut 0,013 1001181
M10 Flanged Nut 0,020 1000182
M12 Flanged Nut 0,027 1005927
M6 Washer 0,001 1000501
M8 Washer 0,002 1000502
M10 Washer 0,003 1000504
M12 Washer 0,005 1000505
M6 Spring Washer 0,001 1000506
M8 Spring Washer 0,001 1000507
M10 Spring Washer 0,002 1000508
M12 Spring Washer 0,003 1000509

ELEKTRIK

Hex. Head Bolt

Spring Traverse Nut

Traverse Nut

Extension Nut

(Lacquered)
Rod Bracket
L
Nut Flange Nut
(Lacquered) (Lacquered)
Washer Spring Washer
(Lacquered) (Lacquered)

WWWw. lectric.com




»»ORDER CODE

ELEKTRIK

» FIXING ACCESSORIES
Description W‘(’;?m Order Code
EAE Pull-off Dowel (M6) 0,028 5000027
EAE Pull-off Dowel (M8) 0,030 5000033 EAE Pull-off
EAE Pull-off Dowel (M10) 0070 5000023 Pull Dowel (Pipe Type)
EAE Pull-off Dowel (M12) 0,120 5000022
Driven Dowel (M8) 0,010 5000018
Driven Dowel (M10) 0,020 5000017
Pull Dowel (Jacketed) (M6) 0033 5000007
Pull Dowel (Jacketed) (M8) 0,030 5000008
Pull Dowel (Jacketed) (M10) 0070 5000009 _
Pull Dowel (Jacketed) (M12) 0120 5000010 Driven Dowel
Pull Dowel “S” Type (M6) 0011 5000011
Pull Dowel “S" Type (M8) 0,016 5000012 Pull Dowel
Pull Dowel “S" Type (M10) 0,031 5000013 (Jacketed)
Pull Dowel "S" Type (M12) 0,053 5000014
Pull Dowel 'S" Type
EAE Pull-off Pull Dowel (Pipe Type) Pull Dowel (Jacketed) Pull Dowel (Jacketed)
" L @D H " L @D H L
(mm) | (mm) | (mm) (mm) | (mm) | (mm) { J

M6 65 10 75 M6 46 8 55 i

M8 60 11 70 M8 75 10 80 S =

M10 85 15 95 M10 85 12 95 e j

M12 90 16 100 M12 90 16 100 ﬁ '

Driven Dowel Driven Dowel
M L @D H .
(mm) | (mm) | (mm) Y

@D

M6 30 10 30
M8 40 12 40

Pull Dowel "'S" Type Pull Dowel "'S" Type
M L @D H
(mm) | (mm) | (mm) *
M6 45 10 50 -
M8 57 12 60 =
M10 63 15 70 I
M12 75 18 85

84 WWW. lectric.com




»»ORDER CODE

» QUICK BINRAK NUT
Description W(kg,gj)’ Order Code
M6 Quick Binrak Nut 0,028 1021244
M8 Quick Binrak Nut 0,027 1021245
M10 Quick Binrak Nut 0,034 1021246
M12 H Quick Binrak Nut 0,032 1021247
1-2. Plac

C

g

b

ELEKTRIK

R4

‘\\

e the Quick Nut into Binrak Duct.

4

3-4. Place the Quick Nut into Binrak Duct.

» QUICK TRAVERSE NUT

Description
M8 Quick Traverse Nut

M10 Quick Traverse Nut
M12 Quick Traverse Nut

24
0,084
0,081
0,078

Order Code

1004993
1004994
1004995

R4

‘\\

1-2. Place the Quick Nut into Binrak Duct.




»»ORDER CODE

» FIXING ACCESSORIES

Description ‘{{g}g{,‘} Order Code
Joiner pin 0,025 1004310
Cable Tray Extension Bolt M6x12 0,009 1004314
Binrak Extension Bolt M8x15 0,010 1004285
One-sided Tray Connection Gasket 0,070 1001414
Double-sided Tray Connection Gasket 0,140 1001454
M8 Clamp 0,170 5000004
M10 Clamp 0,180 5000005
M8 Joint Clamp 0,220 5000001
M10 Joint Clamp 0,230 5000002
M12 Joint Clamp 0,340 5000003
BR 41x41 Protector 0,008 1020339
EAE Zinc Tube Spray 1000172
Zinga Coating (1kg) 1015740
Zinga Coating (5kg) 1015741

BR 41x41
Protector

86

Kupilya ) M6x12

(Lac Coated)

One-sided
Tray Connection
Gasket

Clamp

M8
M10

Zinga Coating

ELEKTRIK

M8x15

(Lac Coated) (Lac Coated)

Double-sided
Tray Connection
Gasket

Joint
Clamp

M8
M10
M12

EAE
Zinc
Tube
Spray

400ml

WWW.

ic.com



»»ORDER CODE

ELEKTRIK

» KO SUPPORT ELEMENT
Agiklama Current " Order Code -
KOA - 1 UT Clamp 160 115 1004275 S
KOA - 2 UT Clamp 250 120 1004278
KOA - 3 UT Clamp 315 125 1004274 &y, 2
KOA - 4 UT Clamp 400 145 1004277 Ty,
KOA - 5 UT Clamp 500 157 1004265 %
KOA - 6 UT Clamp 600 170 1004276 NN N 2y — KO-UT
KOA - 8 UT Clamp 800 205 1007573 ‘ Bracket Clamp
KOC - 2 UT Clamp 250 115 1004275
KOC - 4 UT Clamp 400 125 1004274
KOC - 6 UT Clamp 600 145 1004277
KOC - 8 UT Clamp 800 170 1004276
» KO SUPPORTS
Description Order Code
KO-I1 Vertical Shaft Bracket Retaining Kit 3048476

KO-II Vertical Shaft Bracket Retaining Kit (Fire Barrier) 3048995

KX
Binrak Angle Bracket

Description Order Code Fittings % Fittings
KX Binrak Fittings 2011227
KX Angle Bracket Fittings 2011226

» KX FITTINGS

©)

» KX SUPPORTS
Description Order Code
KX Vertical Shaft Bracket Retaining Kit 3048475

KX Vertical Shaft Bracket Retaining Kit (Fire Barrier) 3048709

KX Vertical Shaft
Bracket Retaining Kit

KX Vertical Shaft
Bracket Retaining Kit
(Fire Barrier)

» RETAINER KIT
Description Order Code
KX / KB IDY Support Set 2054590

WWW. lectric.com 87




»»ORDER CODE

ELEKTRIK

» DL SUPPORT FITTINGS

Description Order Code 295
Frame Bracket - Uncoated 1004189
Frame Bracket - Coated 2033519 O
“U" Bracket - Uncoated 1004874 O
"U" Bracket - Coated 2037294 ® m
“L" Bracket - Uncoated 1004283
“L" Bracket - Coated 2037295
DL/SL DL/SL Multifunctional Bracket- Uncoated 3122646
DL/SL Multifunctional Bracket - Coated 3122647 §
- 52
( \
S 3 N
] )
, / 55
s 12 85
Frame Bracket “U" Bracket “L" Bracket DL / SL Multifunctional Bracket

» KAM/KAP SUPPORT MEMBER

Description Order Code / iﬂ
KAM/KAP Frame Bracket - Uncoated 1004190
KAM/KAP Frame Bracket - Coated 2037293
\—)

DE

26

56

88




»»ORDER CODE

ELEKTRIK

» VERTICAL SHAFT BRACKET FRAME

Description Frame Type Busbar Fire Barrier Order Code
VERTICAL SHAFT BRACKET FRAME B:250 C:240 Type 1 KB - KX = 3047874
VERTICAL SHAFT BRACKET FRAME B:290 C:280 Type 1 KO = 3047875
VERTICAL SHAFT BRACKET FRAME B:350 C:330 Type 1 KB - KX - KO Usable 3047876
VERTICAL SHAFT BRACKET FRAME B:500 C:250 Type 2 KB - KX = 3047877
VERTICAL SHAFT BRACKET FRAME B:550 C:300 Type 2 KB - KX = 3047878
VERTICAL SHAFT BRACKET FRAME B:600 C:350 Type 2 KB - KX = 3047879
VERTICAL SHAFT BRACKET FRAME B:650 C:400 Type 2 KB - KX - 3047880
VERTICAL SHAFT BRACKET FRAME B:700 C:350 Type 2 KB - KX - KO Usable 3047881
VERTICAL SHAFT BRACKET FRAME B:750 C:400 Type 2 KB - KX - KO Usable 3047882
VERTICAL SHAFT BRACKET FRAME B:750 C:250 Type 3 KB - KX = 3047883
VERTICAL SHAFT BRACKET FRAME B:850 C:300 Type 3 KB - KX - 3047884
VERTICAL SHAFT BRACKET FRAME B:950 C:350 Type 3 KB - KX = 3047885
VERTICAL SHAFT BRACKET FRAME B:1050 C:400 Type 3 KB - KX > 3047886
VERTICAL SHAFT BRACKET FRAME B:1050 C:350 Type 3 KB - KX - KO Usable 3047887
VERTICAL SHAFT BRACKET FRAME B:1150 C:400 Type 3 KB - KX - KO Usable 3047888
VERTICAL SHAFT BRACKET FRAME B:1000 C:250 Type 4 KB - KX = 3047889
VERTICAL SHAFT BRACKET FRAME B:1150 C:300 Type 4 KB - KX = 3047890
VERTICAL SHAFT BRACKET FRAME B:1300 C:350 Type 4 KB - KX = 3047891
VERTICAL SHAFT BRACKET FRAME B:1450 C:400 Type 4 KB - KX = 3047892
VERTICAL SHAFT BRACKET FRAME B:1400 C:350 Type 4 KB - KX - KO Usable 3047894
VERTICAL SHAFT BRACKET FRAME B:1550 C:400 Type 4 KB - KX - KO Usable 3047895

Remark: "A measurement varies according to the area used.”

89




ELEKTRIK

»Design Form

*asn umo JnoA 1oy abed siy1 e1eoldnp eses|d

: ainjeubig
areq
aweN

Aq peatedald

oN 108loid
109[01d

Auedwo)

Ayuenp

jusuodwon way

1S wauodwo)

90



ELEKTRIK

‘asn umo JnoA 1o} abed siy} a1eoldnp eses|d

: ainjeubis
areq
aweN

Aq peatedald

ON 109loid
109l01d
Auedwo)

Anuenp

jusuodwon way

»Design Form

1S wauodwo)

91




ELEKTRIK

»Design Form

*asn umo JnoA 1oy abed siy1 e1eoldnp eses|d

: ainjeubig
areq

aweN

Aq peatedald

oN 108loid
109[01d
Auedwo)

Ayuenp

jusuodwon way

1S wauodwo)

lectric.com

WWW.

92



PRODUCT TYPES

BUSBAR ENERGY DISTRIBUTION SYSTEMS

CABLE TRAYS

| [ I

TROLLEY BUSBAR ENERGY DISTRIBUTION SYSTEMS

INDOOR SOLUTIONS

R
&=h

SUPPORT SYSTEMS

Please visit our website for the updated version of our catalogues.

www.eae.com.tr
IRAQ
oy
CHILE
PERU

KENYA
LEBANON
SUDANCHILE
ETHIOPIA
G SRI LANKALATVIA FRANGE TAIWAN
JAN UKRAINE CAMEROON
1Y MIETNAM KONGO THAILAND QATAR 5SYT%'\I% [RHCARE Elf-lvi/ﬁx
AR BANGLADESH g(\%mﬂ’;l; UZBEKISTAN QATAR ALGERIA e
NIA TANZANIA  ioiciSn e O FAGSTAN  TAMGANGA  ROMANIA o
A BELGIUM _AUSTRIA GERMANY R0 FQ. GUINEA SINGAPORE TURKEY JnﬁNN\%éwm LATVIA  MACE
by SE&CHmeR ETHIORIA AUSTRAIRAQ 8% AZERBAUAN TANZANIA MACEDONA  NMADAGASKAR TUNISIA AZEf
SNGAPORE  MAURITIUS Griece LUXEMBOURG  RwaNDA @seeCe svria CROATIA G JUARNETER - DO

ND TURKEY SLOVENIA KAZAKHSTANNIGERIA W,
estvainnn S PAINESE SERBIA oMANSPAIN EGYPT VIETNAM SUDANSIAS: TURKEY (OEAIT ALYRUSSIAUKINGSGTAIS
F%XE;IAFRANCE ETHIOPIA ~FAKISTANBAHRAIN SWITZERLAND U. A. EMIRATES BULGARIA SOUTH AFRICA QATARTURKEY GREECE
LGARIAGHANATURKMENISTAN CY PRU Sscianus azerpaisan VIETNAMNORWAYSERBAN ORWAY SPAIN FRANCE S&\VAR
SRILANKA myanvar  NIGERIARUSSIA DENMARF
AT NAM G ;A EN”RATESTU R KE iICELAND VieETnAmswizesiavo  TURKMENISTANYEMEN suban SWITZERLAND U. A. EMIRATESMALTAS
DS e i SOUTH KOREA i,NgaRy CAVERQON YEMEN U. A EMIRATES CHILELUXEMBOURG LITHUANIAMACEDONIA TANZANIAMADAGASK
NVARSAUDI ARABIAYEMEN BRASILBELGIUM POLAND BELGIUM U KINGDOMTURKMENISTAN CZECH REP AZERBAIJAN DENMARKMACEDO

W/CAIA " IPSIZR AR NI A RAI A 117 DT I S S



EAE Elektrik A.S.
Akcaburgaz Mahallesi,
3114. Sokak, No:10 34522
Esenyurt-Istanbul-TURKEY
Tel: +90 (212) 866 20 00
Fax: +90 (212) 886 24 20

EAE Elektrik Gebze Fabrika
Gebze IV istanbul Makine ve
Sanayicileri Organize Bolgesi

6.Cadde No.2 Demirciler Koy
Dilovasi - KOCAELI

Tel: +90 (262) 502 05 65
Faks: +90 (262) 502 05 70

Please visit our website for the updated version of our catalogues.
www.eaeelectric.com

1 ] g

Catalogue 49-Eng. / Rev 00 500 pcs. 23/01/2020
S.S.
EAE has full right to make any revisions or changes on this catalogue without any prior notice.



